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Code :

(a) Neither 1 nor 2 (b) Only 1

(c) Only

)

lists.

2

Llst -1
" (Writer)
E A. Trivikram

Bhatta
& B. Somdev

C. Jaidev
D. Kshemendra
Code :
A B
(a) 4 3
(b) 3 4
(c) 3 4
(d) 4 3

3. With reference to Jnanpith"Award, which of 3.
the following statements is/are correct ?
1. The 58th Jnanpith Award was
conferred upon Sanskrit Scholar
Jagadguru Rambhadracharya Ji.
2. The 15t Jnanpith Awa.rd was given in !
L |

19635.

Select the correct answer: from the code

given below :

Code :

1 Wplch of the followmg statements Wlth
reference to ‘blood’ is/are correct ?
1. Blood is composed of plasma and
different types of cells.’
2. The presence of haemoglobm miakes
blood appear red.
Select the correct answer from the code

Match List — I with List — II and select the
correct answer using the code given below the

== NNO
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(d) Both 1 and 2
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LlSt II i
(Book) ;
1. Gita'Govinda i
2. Brihatkathamanjaﬁ
3. Nal Champu
4. Katha Sarit Sagar

M %
.

[SESEEES Y - )
£

L.

RS

(a) Neither 1 nor 2 (b) Only 1
(c) Only 2

4. Arrange the following electromagnet1c
radiations in decreasing order of their

frequencies.

1. Gamma rays
2. Ultraviolet rays
3. Radio waves

v,-r 4. X-rays

: -ffé Select the correct answer from the code

given below :

Code :
(a) 4,1,
() 1,4,

2
3

’

2

3
2

!
]
(d) Both 1 and 2 f

I

(b) 451,32
(d) 1,4,2,3"

’

@2 @

1.

2.

T % w6, fiE oo R e ey p—

el 2/8 7

1. T w1 3R fafie yem 6 S §
o F R |

2. gmrcifer 6 ufeafa w1 anfomma
CEICI

ﬁﬁ‘l"‘l?&?ﬁﬂﬁlaﬁtqﬁ:
He:
(@) FM 1@ 2 (b) FaeT 1
(c) =haret 2 (d) 13K 23
Tl - 1 gt - 11 D ghfera <hifdre e gt &
e fow e gz & wd 3w gh |
el -1 T - 11
(SE=®) (7==1)
A. tifespm wg 1. Tia mfa=
B. €W 2. FEHAUTHSHI
C. Sed 3. 9 =T
D. &ug 4. %1 Gid IR
%< :
A B C D
(a) 4 3 2 1
b)) 3 4 2 1
3 4 1 2
d4 3 1 2
TS TR & wey § Frefafan i & 'i&:
FIH-4T/8 FAF T 2/7 ? B
1. 58 df WMYIS QEHR Tha fagm Sige
g St e foRam T |
2. g {HUIS QR 1965 H feam mam o |
=t fu e e & Tt sw g
He:
(@ I 198 2 (b) e 1
(c) et 2 (@) 13K 2 gt
Frafefaa faeagraha faferor s saeht
gl & wed 0 § SFafeyd hif |
1. T fepvat
2. quETH Rl
3. e au
4, X-fepwoi
< @
(@) 4,1,2,3 (b) 4,1, 3,2
(c) 1,4,3,2 (d) 1,4,2,3
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‘adi Karmyog Beta Version
Governance ‘nitiative’ was |5 v
of the _fo}lowmg ministry in ﬁ:;%gbs’ V?Vhlch
1. Ministry of AYUSH "o}

2. Ministry of Women

Development
Ministry of Social Jusfics
Empowerment ustice and

. Ministry of Tribal Affairs!

Select the correct ang S,

given below : wer from the code
Code :

(a) Only 4

(c) Only 1 and 2

and'Child
3.

(b) Only 1
(d) Only 2 and 3

Which of the following Delial

prepares the Nationalglnslli)c?eﬁt;:ent
g;i?ggglliegogriass Report related to

eve "GO i

B Pradesh o opment{%gals in

1. Department of Financé. !

2. Department of Education

3. Department of Planning

Select the correct answer from the code
given below :

Code :
() Only 3 (b) Only 1
(c) 1and 2 (d) 1and3

With reference to ‘Baking :Stb:da’, which of
the following statements is/are correct ?
1. It is Sodium hydrogen'carbonate.

2. It is used in fire extmg"fti‘i”‘éhers.

Select the correct answer from the code
given below :

Code : .
(a) Neither 1 nor 2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : .
below Maximum Retail Price (MRP).
Reason (R) : MRP is a price a seller must
charge from the buyer.

Select the correct answer from the code
given below :

Code : PO

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are tru€ and (R) is the
correct explanation of((A)

(c) Both (A) and (R) are true, but (R) is
not the correct explan‘gﬁi"on of (A)

(d) (A) is true, but (R) is false

A Responsive ‘

o B .
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(a) aa 4 (b) et 1

(c) Faet 1 3 2 (d)a;aazaﬂts
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1. foa fawm

2. Tem fepm

3. FioA faam

Y R T e & T IR IAC

He:

(a) e 3 (b) 9 1

(€ 132 (@) 133

3ReT \rer ¥ ded §, Frefefea § | :i@
FH-w1/3 FYA g B/8 ? mInE
1. Ig Qe FESISH HEMS 2 |

0. ug HfmwHs a3 H TG Bl 2 |

:ﬁ%ﬁqnqa@@m%’faﬂtgﬁq:

He:

(@ T 1TE 2 (b) I 1

(c) I 2 (d) 132

A= < e few mw €, R & O 1 AR (A)
YT GO hI SR (R) a1 TR |

iftvRe (A) : STTET SATURad Gl Il
(T.3TH.) ¥ HH W e H FHd @ |
FROT(R) : TR 98 G4 ¢ S fashan
Shal | T & BT 8 |

2 fau T e @ T IW T
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(a) (A) e 2, fF (R) &t 2

(b) (A) 3 (R) 1 Tt & 3T (R), (A) FT T
ST T 8

(c) (A) 3R (R) aFl @l &, fFg (R), () FT T
ST 81 Ll &

(d) (A) T 2, fFg (R) Tera @
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10. Consider the following elements found in
a typical 70 kg man and arrange them in

10. TH QM 70ﬁ.m.wﬁﬁﬁqﬁaﬁ§lﬁ

. CIZU-1- 23
9 Match Llst - I w1th LlSt - II and choose the ¢ 9. 'ifﬁ - IW Tfﬁ # H kil gq‘%lﬁ W ﬁT ‘éﬂ\?ﬁh il
correct answer using the code given below | ¥ 9 fou T e 1 TET HHE IH T | 1
EixE the lists. Y ! g - 1 = - 10
v.--‘# List - I List - II ! o ) ()
Elr'if (Nuclear Power (State) , (aremg .
> FATeh
Plant) < | A. FSHHEH 1.
A. Kudankulam 1. Karnataka ! B. HERIIR 2. AHETg
B. Kakrapar 2. Tamil Nadu : C. Fm 3. I
C. Kaiga 3. Rajasthan ] TgavTel . T
D. Rawatbhata 4. Gujarat { D. b
Code : 3 e :
A B C D ; A B C D
@2 4 3 1 | @2 4 3 1
b)4 2 3 1 ;~ b4 2 3 1
4 2 1 3 . , )4 2 1 3
d2 4 1 3 § @2 4 1 3
i
|
!
!

correct increasing order. .- %0 A =afRE Hifvm |
1. Sodium ek S
2. Potassium - L. o
3. Copper 2. qﬁ:éﬁm‘q
4. Iron 3. dEl
Select the correct answer from the code 4.
given below : P 9= fo T g T FH I AT
Code : e :
@ 3,4,2,1 (b) 4,3:2,1 @ 3,4,2,1 (b) 4,3,2,1
(C) 4' 3 1 2 (d) 3,:‘4\,"1, 2 ) (C) 4, 3, 1, 2 (d) 3) 4') 1, 2
11. Arrange the following saints.in correct 11. FrefcfRaa dat =i Gt SHICEHATIER 65 I =aem
chronological order and seléct the correct Hifdre qen A= few T % | T W A )
answer from the code given below. 1. 99
1. Nanak 2. Jq HEY
2. Chaitanya Mahaprabhu ) 3. AR
3. Namdev 4. HER
kr 7 LA )
;}% 4. Kabir , Fe:
Code : b )
(@) 4,3,1,2 (b) 4,3;2,1 (@) 4,3,1,2 (b) 4,3,2,1
(c) 3,4,2,1 (d)3412 (c) 3,4,2,1 d 3,4,1,2
12. Consider thk(: follolwmgall anddarra_nge them 12. Trafafes w faam fifse qen 3= 1@
in correct chronological oraer ¢
1. Jawahar Rojgarleojana RICTSRHTIHR shH e i |
2. Development of women and children 1. gt USIR AT

i
i
i
!
|
|
in Rural Areas : e  ofenat 3t N w5 £
3. Integrated Rural Development - 2, CER RIS &
i
|
|
i
!

Programme [E]#E 3. whisha awior fawm SR
4. National Rural Employment %1: 4. THF Trfiur ASATR ShTelsh
Programme '
Select the correct answer from the code 9 feg Mo % ¥ w& IW g
given below : w2
Code : '
(a) 4,3,2,1 (b) 3, 4,2,1 (@) 4,3,2,1 (b) 3,4,2,1
() 3,4,1,2 d) 4,3,1,2" | (c) 3,4, 1,2 (d) 4,3, 1,2

e e e A s i i e~ e e e e e e o L S e S B
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13. Wwith reference bty
Service, Wthh of the
is/are correct ?

. g;élﬁzzzgon:l;nterest, the Ra_{ya

creation of ney, a re;g}ution;tio;

’Irr?di ;ess Olu.tlon for creat?oier‘tgc'g.

Rai CIVICE Must be paaned il

ajya Sabhg Passed by the

by two- Mei?
the total mempbeyq thtlﬁlédhréxgjsznt‘y of

Select the correct
given below : answer from the code

Code :
(a) Neither 1 nor
(c) Only 2

U
o -

ST

fo
HOWlng Statements

2 (b) Only 1 g
(d) Both 1 and 2
Consider the followip g
to poverty and arr
correct chronologica]
1. Lakdawalg Cornrnioti(f:elgr'
2. Rangarajan Committee
3. Tendulkar Committee

4. Dandekar and Rath Committee

Select the correct an
! swer from the;
given below : m the code

Code : lk
(@) 1,4,3,2 () 4, 1,3, 2.0
() 4,1,2,3 (d) 1, 4,2, 3~
With reference to ‘Brazil’ which ofthe
following statements is/are correct ?

1. The equatorial rainforests of Brazil
called ‘Selvas’. on Brasi are

2. ’_l‘he dark black colour fertile land here
is called ‘Terra Roxa’.

4. i
1 & Committees relating
ange their formation in
x.l\”"]";'

L*k
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13, ——— e et i et e
“gq%wmm%éﬁﬁmﬁ
/R w2
b T R 3, o e 7§ ot Wi
H T qifed =T Fehdl @ |
2. T e wrdi g s TS
TS A1 3 e e T & Q-Toerd

) T | Ui B eI B |
E'E:ﬂ%ﬁq >
R T he 4 = gMT
S
(@ I@ 1340 (b) a1
() et 2 (d) 1372 <F

14, W%\ﬁ%mﬁ%ﬁmﬁﬁnﬁﬁq
AT 575 T3 w1 TE HIeHATAN 5 T safRg

ST |

1. “TergmETen wfify
2. TreE afirfa
3. dgereR Tiify
4. TR 3fR o wfufa
g.ﬁqﬂqﬁzﬁwﬁwﬁ
(@ 1,4,3,2 b) 4,1,3,2
(©) 4,1,2,3 d 1,4,2,3
15. ‘snfi@ & det # frafeiied 8 @ sa-ar/3
FU TR /T ¢

1. A % yoeT WEE auiEnt S Yo wed S |
2. TR 1 TR I T B IS 7 H 2

e Y Jerdr HaEd B |
Select the correct answer from thé, [=]: .
given below : ’ %t%:%‘ #ﬁ’ﬁq T T F TR IW GHT ;
Code : ; [Eli R
(a) Neither 1 nor 2 (b) Only 1 -, (@) @ 17& 2 (b) e 1 _
(c) Only 2 (d) Both 1 anid 2 (c) Shaw 2 (d) 13T 23H
16. Consider the following events aﬁdétrrange . 16. FrafeRaa geastt w fomm il aun 3= v
them in correct chronological order. : HIHHAIAR Y T =EfRm il |
1. Poona Pact % 1. HET
2. End of Civil Di;(’btedience Mpyement | 2. WA TR SATCE i qEI
3. Gandhi-Irwin Pac ot .
4. Second Round Table Conference 3. Tie-3f Wt
E!%E Select the correct answer from thei code 4. T e o e
Blj<% given below : J e g e e @ W I g
Code : " He :
(@ 4,3,1,2 (b) 3,4,1,2 (@) 4,3,1,2 (b) 3,4,1,2
(C) 3, 4’ 2; 1 (d) 4: 3) 2: 1 (C) 3’ 4’ 2’ 1 (d) 4’ 3’ 2’ !
e . e e e s o e e e o
@s@





https://www.whatsapp.com/channel/0029Va8pIHkJ93wZ33ViY71S
https://www.whatsapp.com/channel/0029Va8pIHkJ93wZ33ViY71S

Made with Xodo PDF Reader and Editor

ST CIZU-1-9
S y
: ——— e pmant o o L P e s e e - Lo
17 ;)Vjth reference to Sahltya Akademl Yuva : 17. 31:-[ 2025ﬁ Eﬁﬁﬁﬁr%a ITehTeH! Al W%ﬁ?@i %%
Puraskar announced in June 2025, which | 3, Preferfad ¥ ¥ BT/ & R/E 7 5
of the following statements is/are correct ? | 5 B fe) :
1. Yuva Puraskar was announcecl in : 1. FA1 GERR 23 MK 1 T
23 Indian languages. i |
2. There is no Yuva Puraskar in Dogri : 2. g 99 g @ g el TR T2
this year. ,
Select the correct answer from the code ! A faw e e @ wE I IR
given below : i x
code : | Eﬁaq?ﬁltﬁ;ﬁz b) e 1
(a) Neither 1 nor2 (b) Only 1 ! (2) N (_) gere:
(c) Only 2 (d) Both l.and 2 g (c) eIt 2 (d) 132
{7 | ¢ 9
18. Consider the following wars and;arrange | 18 freferad El.i:(ﬁﬁim Hifsre aen 38 T
them in correct chronological order. ’ W ) ! -
1. First Anglo-Mysore War | 1. o Tl -Heg gg =
A 1q i . . |
% 2. Second Anglo-French War; ; 2. fadfta T - g5 3;@-:
% 3. First Anglo-Sikh War 3. vom gell-fe 32
4. First Anglo-Afghan War 4. gUq TeAl-3THTH I3
Select the correct answer from the code (= £ feu T FE @ TG TN g
given below : 3 M%
Code: o * Eﬁ2:1 2,3, 4 b) 2,1,3,4
(@ 1,2, 3,4 (b) 2, 1,34 (@ 1,2, 93, . 1’2’4’3
(c) 2,1,4,3 (d)1243 () 2,1,4,3 @ 1,2,4,
19. Operation Brahma was launched by India 19. T 2025 H 9 7 ATRIHA &M frfeiad 3 3
in March 2025 to provide humanitarian aid frg <o 1 AL 9E™dl YeH HH & T I®
to which of the following countries ? RpaT o7 ?
1. Bangladesh 1. SRy
2. Myanmar 5 T
aysi i
Y 4. TR

Select the correct answer from the code

|
given below : : : i fe T ge @ T I g
Code : s E %e:
(a) Only2and 4 (b) Only I* 5 (@) FaA 23 4 (b) Haw 1
(c) Only 2 (d) Only 1 and 3 (c) shaet 2 (d) e 13 3
20. With reference to the Treaty of Aix-la-Chapelle, ! 20. TEH-A1-T9a 1748 6 a1 &5 Hﬁ‘f( T frfafaa
1748, which of the following statements is/ | 3§ SH-T1/ FUT T R IR,

are correct ?
1. The first Carnatic war ended

2. Madras was returned to thé British.

1. YN e Ig T B3 |
2. g ST aeE wU e e |

[E]¥;[®] Select the correct answer from the code

%?7 given below :ﬂ%ﬁquﬁwﬁww
Code : ‘ £
(a) Neither 1 nor2 (b) Only 1 (@) I 14 Bl 2 (b) W 1
(c) Only 2 (d) Both 1 and 2

®
m:
®:

t

]

}

(c) heret 2 (d)lBﬁIQ?ﬁ'rﬁ
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21. ‘Who among the followfhg 11;tr6duced the

|
concept of entitlements in food security ? z
1. M. S. SWMlnathan o i
2. Atul Pranay e |
3. Samali Srikant ,
4. Amartya Sen 1 :
Select the correct answer fr01.1‘1't‘he code :
given below : z
Code : :
(a) Only 4 (b) Only1 - g
(c) 1 and 2 d) 3 and'z'if i
22. Match List — I with List - II and choose the i 22
‘ ;:rrﬁ(:t answer using the code glven below %
E e lists. ¢ ‘a
EII:% List - I List - II *»
(State) (Number of seats
in Rajya Sabha)
A. Maharashtra 1. 16,
B. Karnataka 2. 18
D. Tamil Nadu 4, 15
Code : L.
A B C D
@2 4 3 1
3 4 1 2
2 1 3 4
@1 2 4 3 MY
23. Consider the following revolts and arrange { 23.
them in correct chronologicalf"o;der.
1. Pabna il
2. Indigo -
3. Kuka
4. Sanyasi
El"' Select the correct answer fror}r{ﬁhe code

given below :
Code :

(@ 3,4,1,2 |
(b) 4,2,3,1
(€ 4,3,2 1
d 3,4,2,1

IEI

3. TR i
4. IO
A9 few o e § e 3o
e :
() e 4 (b) e 1
(©) 132 (d) 33 4
. g - 1 e - 11 @ gafem R S g
% 41 Ry o e & T I IHC
T -1 g - 1
(@sa)  (em T H e wen)
A. HEAIS 1. 16
B. ®AieH 2. 18
C. fEr 3. 19
D. afteg 4. 12
we
A B C D
@2 4 3 1
b3 4 1 2
g2 1 3 4
@1 2 4 3
frafofea el @ e i qn 3= 7
HICHRIEER % 8 Safed ST |
1. 9eAT
2.
3. FH
4. GATH _
MR d s S
iy B
(@) 3,4, 1,2
(b) 4,2,3,1
(c) 4,3,2,1
(d) 3,4,2,1

et e i P b
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24. Given below are two statementé, ‘one is
labelled as Assertion (A) and the other as

Reason (R). C 7
Assertion (A) : The interior partof Australia

is desert and semi-desert. £
Reason (R) : Northern Australia is situated

in the temperate zone. i1
Select the correct answer from'the code

given below :

Code :

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and-(R) is the
correct explanation of (A)

(c) Both (A) and (R) are true, but:(R) is
not the correct explanation of (A)

(d) (A)is true, but (R) is false .

Given below are two stateménts, one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : Evaporation of sweat from
human skin dissipates body heat.
Reason (R) : High humidity onf(ér;hot day
increases discomfort. J
Select the correct answer from;ffthe code
given below :
Code :
(a) (A) is false, but (R) is true
(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(d) (A) is true, but (R) is false il

.

25.

-y

P

26. Given below are two statements; one is
labelled as Assertion (A) and the other as

Reason (R). .

Assertion (A) : In the Himalaya{iﬁaountains

) different types of vegetation are found.
E'&?E] Reason (R) : In Himalayas, there are variations
i ‘;r" in climate with change in altitude.

Select the correct answer from the code

given below : .

Code : s

(a) (A) is false, but (R) is true *..

(b) Both (A) and (R) are true and’(R) is the
correct explanation of (A) /-

(c) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)
(d) (A) is true, but (R) is false

o e e

j

i
{
i
|
i
!
H
?
i

| =]

T R e R R, R Y s
qUT GAL =T R (R) gl T 2 |

25.

26.

T
oG

P b gt e e e M |t s M B b 1 el i s
)t e i

e
s

@8 @
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27

SR (A) @ STERTN 1 il W T,

W(R)imﬁ%mwﬁﬁmq;&éq%“

R g |
9 fom T F ¥ TE IR I

e
) (A) 3R R),
(b mgﬁﬁ (R), (A) H =
(© (A) 3 (R) T TR E, g (R ,
e & F@ 2 FIR, W
) (&) =@ 2, 5 (R) e 2

42 & e fow T R, B o ) st (g

e g@ 1 I (R) FE TR |

SfrReA (A) : TE =1 H TR 1 arfm

T i T o AR FLLR |

FROT (R) : ™ T T I A0 | W =g

St @ |

HE

(@) (A) T 2, Fg (R) 7 2

(b) (A) 3 (R) 1 T & 3R (R), (&) 1 WA
SR T 8

(¢ (A) 3 (R) T & §, fF (R), (A) F1 &
ST T8 T 8

(d) (A) & &, frg (R) el R

= & e fRu e & R u R iR (A) T
GER Y BT (R) FET TR |

Ifrrem (A) : femrer wea & fafim R R
et arft St ®

ral4=]

T fou T e @ v s R

%

(a) (A) T B, fhg (R) W& 2

(b) (A) 3R (R) 2R Tt & 3R (R), (A) R T
STEAT Al 2

(©) (A) 3k (R) 3 vl &, Freg (R), (A) A
T 6 T &

(@) (A) w&t R, fog (R) et

s gas
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27. With reference to Multi-Dimensional e T T e R
is/are correct ? ollowing statements 8 BH-m /3 e % v # Frorfafag 5
e : \ i _ SEEE: ;
1. It was developed and introduced in 2010. | 1. 38 2010 i fa;%??/g ?
* 2. TR Iy 3 sreqa R
’ g % T @) e & 3 '
| ‘ s

2. 111t1 (r:lldea:uitles extreme poverty and
udes those living on'less than one Uh ST 4o e HE
d . HH 9 S IEE] T =y
B

given below :
Code :

(a) Neither 1 nor 2
(c) Both 1 and 2

(b) Only’l
(@ Only2

S 1d‘§1§‘" B |
e oY e ! ‘ b
S et anawer uplfe the code Pey ikl e
Code : ik i Fz: %2 U T I :
L 5 )
@ Salys "2 Q) Both 1 | @3 13d2 (b)) P 1
\ (d) Both 1 and 2 i (c) Hael 2 (@) 1 T 2 B
28. Match List - I with List — i i ‘
correct answer usin Lli: codH‘ and select the | 28. FA -1 g=h - 117 gAfera AT a1 i 2
1 g e given below the | ¥ few +
- sts.L. ¥ i U he T TE B FE T |
EIR.% peror) (City:where { (Tgre) (X T dehall fm 2)
& Tomb is located) i A. FTET 1. FATT ¢
. Babur 1. Agra i B o
B. Humayun 2. Lahore ‘ @V{EL 2. AR
C. Jahangir 3. Delhi C. Sgrii 3. feeeht .
D. Shah Jahan 4. Kabul D. wmestEl 4. A
Code : ' e
A B C D = :A Er’é
(@) 3 4 1 2 a) 3 B.S 2
(a) 4 1 2
(b) 4 3 1 2 (b) 4 3 1 2
(c) 4 3 2 1 (c) 4 3 2 1
@3 4 2 1 0 @3 4 2 1
29. With reference to Public Accounts 20, W o a5 geef # Freferfea 8 &
Committee, which of the following FH—T1/d HTF T& /27
statements is/are correct A Sran gfufa o fre &
1. Public Accounts Committee submits 1 ?T:F?ﬁ 3 ‘ T
its report to the Lok Sabha. ' .
2. Public Accounts Committee consists 2. @ @l afufy § U= @9 & 15 8§
of 15 members from Rajya Sabha. i A& |
Select the correct answer from the code | 9 few T HKE F T W %’ﬁ‘l .

&
(@) A 1A E 2 (b) et 1

() 132 (d) et 2

30. aﬁ@maﬂtr@m%mﬁuﬁaqﬁa
(ﬁ@)%éﬁﬁﬁmﬁﬁﬂﬁﬁﬁq-m/a

Mangrove Initiative for

30. With reference to
and Tangible Income

Shoreline Habitats !

!h/jISHT 1), wl'(icgl of the following statements z o TE 2/F 7

is/are correct : ¢ A : N -

*/ “t was initiated in 2019. 1. 38 2019 & st et T ¥

5. It aims to restore Mangrove forests. ; 0. THH W iy Al Equrfﬁa FET2
EEE Select the correct answer from the code i #3 feu T HE 3 T@ INH 4T :
,ﬂy_ ff,é given below : ‘ | 2
[=1§7 Code:' , | (a)q?ﬁlq’é:TQ (b)\ a1

(a) Neither 1 nor 2 (b) Only 1 i E‘;Eaﬂ”(l : o

(c) Only 2 (d) Both 1 and 2 ; (c) et 2 (d) 132

et i i et i R e e e s e e et e e s —— e

®
© H
®
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31.

Consider the following even‘;srha_x;c‘{a;r;n»ge
them in correct chronological order.
1. Cripps Mission :

[=]:3[=)
’(‘.‘Ei_‘-g 2. Cabinet Mission
EIiS

3. Shimla Conference
4. Wavell Plan :
Select the correct answer from the code
given below : ‘

Code :
(@) 4,1,2,3 b) 1,4,2,3
() 1,4,3,2 (d) 4,1,3,2
32. Which of the following rivers fall into the
Arabian Sea ?
1. Periyar e
2. Pennar g’
3. Palar o
Select the correct answer from the code
given below : Pl
Code :
(a) Only 3 (b) 1 and 2
(c) Only 1 (d) 2 and 3
[t
33. Match List — I with List - 11 and choose
the correct answer by using the‘-:g':é’de
given below the lists.

i List - I List - Il
E’q‘.% (Coal Field) (Countl'fy)::
ENE A, Appalachian 1. England

B. Lancashire 2. Germany
C. Ruhr 3. Russia
D. Kuzbass 4. United States of
America-.
Code : ¢ T
A B C D e
@1 4 3 2
)4 1 3 2 £
g4 1 2 3 K.
1 4 2 3

34.

Which of the following statements
is/are correct ?

1. Dolphins and Whales breathe:t’hrough

blowholes. ‘
2. Earthworm breathe through their
skin.
Select the correct answer from the code
given below : )
Code :
(a) Neither 1 nor2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

\
. A ——— —— e e P B S Ol Wl Sl i N — 2

32.

33.

(c) et 2

Clzy,,

e e e e ~Y
ﬁqﬁqﬁgamaﬁqtﬁww“‘xt\ -
Wwﬁim@aﬁmﬁﬁ, g
o, e T
S.ﬁrﬂwm
4, q&d X
:ﬁ%mﬂqﬁ?ﬁﬂ?@mgﬁq
g.4,1,2,3 (b) 1,4’2,3
(c) 1, 4, 3,2 (d) 4,1,3,2 g

=
1. fER B
2. UK
3. Tol
ﬂ%ﬁqﬂqaﬁ?ﬁgﬁrwﬁ
() et 3 (b) 132
(c) o 1 (d) 23R 3
@Eﬁ-leﬁragﬁ—nﬁgﬁ%ﬂaﬁrﬁqmw%
3 e Qe T TEN HF IR G |
el - 1 Th-1 gy
(hraeT 871) (Z) E?ﬁ
A. IOTAREA 1. I 2
B. TN o S
C. & 3. &4
D. FvEE 4. T TS
He:
A B C D
@1 4 3 2
b)4 1 3 2
g4 1 2 3
@1 4 2 3

| frefias weE i ¥ SH-a/d wm @ ik

1. i ot e seiideq 3 wea 4
ot 8

2. e ST e 3 HreAm & wE A e

%2

(@AM 17d 2  (b) Fa« L

@ 132

N A e P Pkt e < m i i e
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e . Which one of the follow; ‘)
n i
whi \ g books is NOT

35. Frefitfiag 5 8wy g refa A % T g

|
|
| s
1. Meghadutg | foran e 3 5
, R
2. Raghuvamsa_m | . ;
I .
3. Shriﬂgal' Shatak b : 2. W
i 3 od
Select the correct answ CoY | - T ¥R
. er f ¢ -
Es‘; given below : YoM g eade i A= feu M e § wE I AT
oty €1 ;
EA Code : l e
: |
(a) Only 3 (b) Only 1 | (a) *aet 3 (b) ae 1
(¢) 1and 2 (d) 2and 3 | (c) 13k 2 (d) 2 3 3
. y |
36. ;:Illc'ﬁ:l; (éf the .following pairs of Part of 36. MR Ty 3% wm =ik 3@ famm =
o ; . L4 . 5
! nstitution and its subject | Frefafag 4 3 S -H1/3 T FE gifer
is/are NOT correctly matched . - i ;
1. PartIVA - pFundan taiD i ! b ‘
- 1ental Duties Lymiva - wiferss Fded
2. Part VI — The States .-
3. Bari 1 iy 2. MMVl - T
Select the correct ansewl\::tr“:;:rl: il}i:isode > X1 § V
given below : H= few L T q @l IW ﬂﬁQ :
Code : M) ke
(a) Only 3 (@) Hae 3
(b) Only 1 o) (b) Sae 1
() 1and?2 Ca) () 132
(d) 2 and 3 (d) 233
37. Given below are two statements, one is 37. ¥R Q@ wom fou mu F, fi s = st (A)
labelled as Assertion (A) and the other as o {{ﬁ I HRT (R) HaT 71 2 |
Reason (R).

e (A) : qEST 3R wfeenati i smEr
-3 Bl 2 |

TR (R) : qe6l 3R afgenadi & dipet wic 6y
TS ST TGS S7emT-37e Bl 2 |

Assertion (A) : Voices of men/and women
are different. oy

@& Reason (R) : Length and thickness of

S

ol

vocal cord is different in men and women.

Select the correct answer from'the code f= feg o ET U 98 I _?!ETQ . gi@
given below : = E‘I'\_‘;f
Code :

(a) (A) e B, fhg (R) &t 2

(b) (A) IR (R) THi && & 3kt (R), (A) T =i
TR &l 2

(c) (A) 3R (R) S &t &, fpd (R), (A) 1 T
T T8l Hidl &
(). (A) @& 7, forg (R) e 2

@ 11 @

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A) -

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A) is true, but (R) is false

e e o e e o e S o dme e s e i pmas i et ot o st

]
)
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..lw P I ,;:é e L \\(
E}&} ——_ien i 3d8ﬂ ESibS aﬁfﬁ;;{ T r:’ﬁl;ﬁ; 2K,
5. Miateh Lint T with List - 1l and cioose 022 | °" 35 3 o
correct answer using the ch_le given belo 1 . | ) (-{m_:n o
ESE the lists. r i (ﬂﬁmmm )
R’*‘%- : List - I List - 1I : A, A 1. 3y
ER‘% (Refinery) (S'_?‘}tf) ; a oS 2. o
A. Nayara 1. Assam | : 3. S
ay i -3 i C. quc’ﬁ"rGf Y Wy
B. Manali 2. Gujara : 4. Hﬁ’lﬁ:ﬂg
C. Numaligarh 3. Andhra Pradesh | p. AT §
i 4. Tamil Nadu ! :
D. Tatipaka i e . B C D
Code : [ | 1 3
( { (a) 2 4
A B C D A i S
@2 4 1 3 ; (b) 4 3 1
)4 2 1 3 I 1 © 4 2 )
04 2 3 1 ; d) 2 4 3
@2 4 3 1 I i
ey s % w3 P iy
L 39, ‘3ATRIA N :
39. With reference to ‘Operation Ohwa(;r‘g::ltc 2 F-a1/8 HF gt 2/2 ?
O G e of i cone 1. w8 S % e T A et g
1. It is an initiative O . -
Guards to protect Olive Ridley turtles e % o W @ &l i @ T
along the coast of Odisha. . 0. o aNfafeRT 3G % At Eﬁ:ﬁm
2. Operation Olivia is car}‘%?d out during T ST 8 N e T FGA F
the month of August which is the S AR S T AR
nesting time of Olive Ridley turtles. 3 T8 I ﬁﬁm :
Select the correct answer from the code i feg T RS
given below : By %c:
Code : On] . (@) T 1T 2 (b) et 1
(a) Neither 1 nor 2 (b) Only i d4) 1 3tk 2 3F
(c) Only 2 (d) Both 1 and 2 | (c) et 2 (d)
40. ‘BHARATPOL', an online portal for 40. s qfera e % T e qm
International Police Co-operation has been | E:i-@- ‘yrade Pefafas O 8 e g Taem
. T
developed by which of the following ? ; EII‘«.# fpr T R 2
1. Central Bureau of Investigation : : e a@
2. Research and Analysis Wing i ) ([ N o
" 2. fagayon
3. Intelligence Bureau ' - | HIEEH
4. Enforcement Directorate ; 3. AREHAT a@
[E]%[E] Select the correct answer from the code ; 4. vea freme
ijj_‘:}fgivenbelow: ' z ﬁmmﬂﬁﬂﬁﬁ'{ﬁﬁﬂ
Code : i He:
(a) 3 and 4 (b) Only 1 f (@) 33K 4 (b) ot 1
|
(9 22nd 3 (d) Only 3 | @ 2 3t 3 @ 3

'

-
e -
It _—
e L T e vy -
. I - i A S

®,
o
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41. Which among the following words were
inserted in the Preamble of the Indian

41. PEET vyt oL B
EVEE] sreerern 3 frfirfiaa & & HH-8 71 1

(c) 1and 3 (d) Qandg

40, “siiet d e ¥ wad # Freffen &
H-71 /2 HuA TEl 2/8 7
1.a3qga1ﬁiﬁanurﬁaaiﬂt—wﬁm%

42. With reference to ‘Internat{é}lal Solar
Alliance’, which of the following
statements is/are correct ?

!
Constitution by the 42nd Constitution | m
Amendment ? [“:_1:‘15 ' i r‘-% ™Y 7
1. Socialist i 1. 9H=EE;
2. Secular £ vy 2 2. gl
3. Sovereign ! f 3. TRl
4. Republic § 4, TG
Select the correct answer from the code | = fou e e B TE ITH RGN
given below : , : Tz .
Code : : )
£ : 3 2
(@) 3 and 4 (b) 1 and 2 § (@) 33 4 (b)lﬁ
| (c) 133 (d) 233
i
i
|
!

1. Itis the first treaty based c 3 o3 :
Inter-governmental organisation ﬁﬂiﬁm AT Hd # & 3 T 38 Wew
headquartered in India with MR
38 member countries. . -, 0. figg gR ¥ 3 T T T T 99 fiig i

2. World Solar Bank and One Sun . 3

(%5 =T |
One World One Grid Initiative were e FHb 2 ‘
initiated under it. c H9 fag e g2 | wE I g :
Select the correct answer g§i;1g the code we:
given below : - (@) T A1 2
Code :
(a) Neither 1 nor 2 (b) et 1
(b) Only 1 (c) e 2
() Only 2 (@ 13 2
(d) Both 1 and 2
43, 3 3w f e E, R o AR (A)

43. Given below are two state@;:h'ts, one is
labelled as Assertion (A) and:the other as
Reason (R). ndD o was

E]:F"'_,;E Assertion (A) : Buland Darwa,
el qf constructed at Fatehpur Sikri by the
ot Mughal emperor Akbar.

am?gﬁﬁm(mww%l
W(A):wmmﬁmm
ﬁgaf—czawmamﬁﬂ’mmmml
W(R):aw?sﬂmﬂfmyﬁ?

%
Reason (R) : Akbar built this monument tp : . it ¥ 5 6 T 3 o o |
commemorate the birth of his son Jahangir. gr 3 for T e & T I e
Select the correct answer from the code } _% =
i below : { :

%er;:eow (5 E (a) (A)W%,%(R)@%
(a) (A) is false, pbut (R) is true : (b) (&) 3 (R) A T 8 3it (R), (A) &\ gal
(b) Both (A) and (R) are trueand (R) is the | ST T R |

correct explanation of (A) - i © (A) 3t (R) S Td 8, 4 (R), (A) EIRCH
(c) Both (A) and (R) are tru'é., bUtf(l,:) is : e T 3

not the correct exp}anatlon of (A) @ @ i 2, m R T )
() (A) is true, but (R) is false i IR,

asesne s @ 13 @
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Con31der ‘the formation of the following |
States of India and arrange them in correct ;
chronological order startmg from the ;
earliest to the last. T i
1. Punjab
2. Arunachal Pradesh i
3. Nagaland o ;
4. Sikkim o i
Select the correct answer frorn the code :
i
E
i
|
i
|
i
]

¢

given below :

Code :
(@) 3,4,1,2 (b) 2,3,4,1
(€ 3,2,4,1 d) 3, _1‘;;,;4, i
Match List — I with List — II and select the |
correct answer using the code given below 9
the lists. g
List - I Llst II
(Pulitzer award (Awardee in 2025)
categories)
A. Fiction 1. Jason Roberts
B. Music 2. Branden
Jacobs J enkins
C. Biography 3. Su51e Tbarra
D. Drama 4. Pergmal Everett
Code :
A B C D
(a) 4 3 1 2
(b) 3 4 1 2 “
(c) 3 4 2 1 -
(d) 4 3 2 1
Match List — I with List — I and select the

correct answer using the code glven below
the lists.

List -1 Llst I
(Governor (Important
General/Viceroy) contnbution /work)
A. Lord 1. Permanent
Dalhousie settlement of Bengal
B. Lord Curzon 2. Prohibition of
Practice of Sati
C. Lord William 3. Partition of Bengal
Bentinck
D. Lord 4. Doctrine of Lapse
Cornwallis £ 5
Code :
A B C D
(a 3 4 2 1
()4 3 2 1
(c) 4 3 1 2
1 2

(d) 3

.
. B
i

e St e e it Wt s B o1k i Ut

@14@

—

44. ma;ﬁ'ﬂf\af@awiﬁmq-(ﬁ?“m@

ﬁmmﬁmaﬁaﬁr
mﬂmmﬁmﬁw w8
1. 99
5. FEUTEE T
3,711"11?}“3
4. fafern
:ﬁ%«ﬁqm?@'?@mﬂﬁq:

®) 2,3,4,1
(d) 3,1,4,2

() 3,4 1,2
(©) 3,2, 4, 1

}

<

45. {eﬁ_laﬁ@—llﬂgﬁ%ﬁﬁmm
R -‘ij

gt - 1 -1
(qfereer gEEpR 1 90R) (2025 H i Elf
A. Feee 1. & Tady
B. @ild 2. S NheH -y
c. Sheft 3. FHl 3=
-;«:E D. 31111/112?6 4, ‘TFﬁHHQERz
EII’?%EE&A e
@4 3 1 2
3 4 1 2
3 4 2 1
@4 3 2 1
46. T — 1 G — 118 AT hifsre o il
Y fm TT e 1 TN HEFE I GAC |
-1 gl -1
(TR e/ Cree URERIER)
A
A. TS SHANT 1. STt i TRl SN
B. €€ HoA 2. Tt v v e
C. o fafermm 3. Sme 1 TaMeH
D. o€ HHaMTE 4. S0 1 HgE
e
A B C D
@3 4 2 1
by4 3 2 1
©4 3 1 2
" @3 4 1 2

P B et sttt
s b s

-
S
g i -

-
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W
i .
e e e e o S R S e e g 371. S 3L 9.
47. AsPer mefoung Ditrict One Product (ODOP) |  47. I wew 1w forefl & :ﬁqf (t%rF@?l EY ﬁﬁ,:
schzr;?:oght;éar .PlradeSh, Moonj products | A F FER, g9 e o
are < with Wh’ 1A . | . . . s A
. Sistricts ? ich ij.:f‘_,the following ! R A 7
1. Amethi 3 1. 3
2. Sultanpur C : 2. HedEyL
3. Sant Kabir Nagar -z : 3. Hd HER TR %%E]
Select the correct answer from the code ; Fr=l feu o g2 # @l I '{{F*TQ E]r’?f
given below : i Tz
Code : i A 2
] 3 b) 1
(c) 1and3 (d) 2 and 3 ; (c) 13M 3 (d) 2
; ‘ | e 3 52
48 Which of the following pairs/is/are NOT | 45 Pretferan it & /8 39 T ﬁf;f?'“ R
ES@_ .  (Biosphere (State) : (araired R ) (
Nep oy i _
Eh[:% Reserve) ! 1. i
1. Nokrek = Mampur 9 _ 3799
2. Manas — Assam - WY L
3. Agasthyamalai - Kerala 3. IS -
Select the correct answer from the code 1 fau Mg e & FE IH M
given below : P )
Code : S | % " R .
(a) Only 3 (b) Only,1 (a) haet 3 (b) a;a‘—i'
(c) 1and 2 (d) 2 and 3 (c) 132 (d) 233

49. The Gobi Desert is spread across which of | 49, il weeerm Ffeied FyPA-a A w7

the following countries ? 1. e
1. Mongolia
2. China 2. ¥
3. Russia 4 SH
4, Kazakhstan ' 4, I
Select the correct answer frorn the code = feu T Fe T g IW E[F-I'Q v
given below : 7 2
Code : &1 N )
(a) ¥ 1,23 4 (b) Hael 1

(c) Only 1 and 2 (d) Only 1, 2 and 3
50. ‘maﬂim'%dzﬁﬁ,ﬁm%f‘@aﬁ@'
, H-|1/8 FF TE 2/ 7
EEE 1. refia firere 7 & 3fus pH 1 a1 B |

{
i
i
i
i
; |
(a) Only 1, 2 and 4 (b) Only/ ‘ \ ;
. (c) et 1 3R 2 (d) a1 1,2 3R 3
i
50. With reference to ‘acid and bases’, which of i
the following statements is/are correct ? |
1. Acidic solutions have pHmore than 7. |

TR
E].ﬁ 0. &l e @1 pH 7 ¥ 0 g @ |

5. Basic solutions have pH-less than 7.

S.elect the correct answer from the code : £ for T e @ W IR yu

given below : ‘o | ]

Code : ) ! e .

(a) Neither 1 nor 2 (b) Only 1 | (@ A@M1T& 2 (b) Haa 1
i (c) 3 2. (d) 1 3ir 2 3
! — . o S

(c) Only 2 (d) Both 1 and 2

R T
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S1. Wlth reference to Municxpalihes Whlch of

the following statements 1s/are correct ?

1. The eligible age to be a membel of
municipality is 25 years,

2. One-third of the total number of seats

to be filled by direct electioh in the

municipalities is reserved for women.

KEE\%E] Select the correct answer from the code
EISRE given below :

Code :

(a) Neither 1 nor 2 (b) Orﬂy 1

(c) Both 1 and 2 (d) Only: 2

e T T e 1
oy W$mq%ﬁ§£ﬁ\ |
@ B/% 7 i, Bl
1 mi%la;l “a~ mﬁa’;%’q- ¢ ~_'_‘___‘
25 ed 2 | ° w54

:;rm%rﬁanurﬁumq- \
HeF FEA1 1 TH-far wopy
fom Frfeaa 2 qﬁs"

= fw T R F T I gf

@ A
(@ AW LTR 2 (b) Feyey g
C)lEFﬁ'{ZW (d)—;ﬁaﬁg

s2. Freffad I 5 8 F-H/8 w8 e

S2. Which of the following pairs 1s/are correctly 55
matched ? — /87 )
(Coal Producing (State) (e TS &) (1)

1 MArTa) Arunachal Pradesh b ﬁ,m. _ q&amﬂ?lﬁm

. Maolong - nac rades . _ .
2. Raniganj — WestiBengal & \
3. Ramgarh - Jharkhand 3. THTe BRAACS E,i;ﬂ;j
4. Talcher - Odisha® 4. dTe=R - Iffswm @ﬁ%
Select the correct answer from the code EEE] =y few T e H 9a I g .
given below : - ;ﬁ%
Code : -f e

(a) a 2, 3 AR 4 56

(a) Only 2, 3 and 4 b 1 ’
(b) Only 1 [b) = .
(c) Only 1 and 2 (c) I 1 3R 2
(d) Only 1, 2 and 3 (d) a1, 2 3R 3

53. Arrange thefollowi.ngconqueié‘fcs',;ofAlauddin ‘ 53. J@Rkeq faest &1 fafefea o G
Khalji in correct chronological order and : FITHATTEAR 1 ﬁm@]ﬁmm:ﬁéfﬂ
select the correct answer from the code [ ?ﬁ & I B ?{ﬁm |
given below. LS i
1. Ranthambore i L R

EZE 2. Jaisalmer 3 2. §IE‘IE|11( 57.
E]L ;c,‘éij 3. Warangal | 3. 9T
4. Chittor { 4. fosre
Code : ; % : ‘
{
@ 21,43 ! @) 2,1, 4,3
(b) 1,2,4,3 g (b) 1,2, 4,3 :'
(c) 1,2,3,4 : (© 1,2, 3,4 :
t
f -

d) 2,1,3,4

d) 2,1, 3,4 A—
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It was Constmcted b My
Nigam Limite el Ré}ll,\_/ﬂ(as
public sector i’r:l};lﬁgldés\an/“ avratna’
of Railways, I the Ministry
It is India’s firg
sea bridge.
Select the correct
given below :
Code :

(a) Neither 1 nor 2

(c) Only 2

t vertical iift railway

answer from'the code

(b) Only 1
(d) Both 1 and 2

|
|
i
|
1
|
!
|
|
!
|
|
|
f
|
_t
i
1
i
f
Which of the following Ram$’é.i£uwetland site :
is/are NOT situated in Uttar Pradesh ? !
1. Sarsai Nawar Jhee] "% f
2. Samaspur Bird Sancty !

ary

3. Rudrasagar Lake }
4. Sultanpur National Pagk
@iEE Select the correct answer from the code
0 given below :
Eli:- Code : P
(a) 3 and 4 (b) 1 and®
() 1and 3 (d) 2 and-3
56. Joint special forces exercise ‘KHANJAR-XII'
was held in March 2025 between India and
which of the following Countries ?
1. Russia
2. Turkmenistan
3. Kyrgyzstan
4. Mongolia
Select the correct answer from;the code i
given below : o !
Code : (ad
(a) 3 and 4 (b) Only-1'
(c) 2 and 3 (d) Only.-3
57. Who among the following were the members

of the Fazal Ali Commission ?
1. K. T. Shah

2. K. M. Panikkar

3. P. Sitaramaiah

4. H. N. Kunjaru

Select the correct answer fror{nI the code
given below : .

Code : ‘

(@) 2 and 4 (b) 1 and2

(c) 1and 3 (d) 2and 3

cIZU-1 - 23
54, T fa 3y e e A I/
P TR /T 7
T R, S e e g P AT
AT g 1 3T © | _
2. 8 v o e AR TR W H B R
1 fiw g e & = I IO
e )
(@@ 1ad&z () P
(c) Faa 2 (@ 1 3 2 2F

55. Frofefan 3 & Hm-w1/3 TR AW w5
I wew F feorq 7E1 2/8 7

1. wEg 9 3
2. THEQ veft rETed
3. AR 3
ey 4 GG T I
DA 13 oy o e & Wt 3w I
I %@ -
(a) 334 (b) 132
(c) 13k 3 (d) 233
56. A 2025 i dgF R 9 AW Wow -XII'

R 3R Frefafaa § @ o6 <9 & = ameifoa
Toran mar o 2
1. &9

2. gHART
3. ffifeream
4. HmferEn

= fu T % & Td W g :

“c:
33 4 (b) ael 1

(a)
(c) 23R 3 (d) haet 3

57. T=fafga @ @ F9 woet e 31m % we & ?
%. . g
. . T, qftreeRt
. . e

4 L e
IS 1 o e e & W s gfe -
El¥ e:

(b) 132

(a) 2 3M 4
() 133 (d) 23W 3

o.)t\):—t
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e e e e \‘

ftﬁmmﬁc’@ﬂ@w@ﬁq\

correct answer from the code given beloW 1
. the lists. gl ’% ﬂ@ ~F -1
[ List -1 List =TI s (@ga s/ (O
MR (National park/ (State/Umion g i ) R
‘Sﬂildhfe Terﬁt}ory) !i A T 1. wE vy
anctuary) Py |
A. Dachingam 1. Madhya pradesh | B. e 2. TS¥IH
B. Keoladeo 2. Rajasthan 5 C. el 3. ¥
C. Kanha 3. Kerala i A 4.
D. Periyar 4. Jammu and i 2 . ﬂﬁm
Kashmir g k3% s D
Code : P ! A B
A B C D g @2 1 3
(@) 2 4 1 3 { i (b) 4 2 1 3
((b) 4 2 1 3 g (©) 4 n 3 1
c) 4 2 3 1 o ! 3 1
@2 4 3 1 7 | @2 4
ﬁﬂﬁv’iﬁga | | @7{-141/3?{ a@( gﬁﬁ«m W
59. Which of the following pairs is/are NOT 59. (g‘q o Wy 6
correctly matched ? (G!:IEIIEEI) 3T &) .
(Tribe) (Habitat) 1. A I KRR g}:
1. Bushman  ~ Kalahari-Desert 0 oferl U RIS &=
. _ I L d * . -~
g. Eskimo gorthe%}(l.ana a g i AR
. Pygmy = ongo Basin
4. Masai _  West Africa 4, TETS _ ufgem A
Select the correct answer from: the code .3_ £9 fou T ERS 3 ge I gﬁm :
given below : = E, E g
Code : : - -
4 b) Had 1
(a) Only 4 (b) Only 1 (a) N (b) N
(c) Only 1,2and3 (d) OnlySand4 (©) %ad 1, 2 3 (d) a3 N4
60 ﬁawﬁqﬂﬁ,ﬁrﬁqﬁmaﬁm

two statements, on¢ is 'g

60. Given pelow are
rtion (A) and the other as

labelled as Asse
Reason (R).

not the correc
but (R) is false

!
{
Assertion (a): F ood security 18 necessary |
even in surplus food production years: i i oy AT T | . e3
Reason (R) : Starvation can still occur | &R0 (R) : 3T @ gr[q /q?
due to unequal distributiori‘ and lack of iﬁ K| ¥ FO ,quﬁ it oft A m% l
accessibility. }
E7E Select the correct answer from the code ‘{ Fi fqu T e ¥ Tel I gﬁQ
icf % , . | @
[BI,‘- given below : |
Code : ':_ (a) (A)W%,ﬁﬁﬁ(mg@% v
(a) (A) is false, but (R) is true-. ' .‘ (b) (A) %R (R) i P 1 R n
(b) Both (A and (R) are tru¢ and (R) is the | e 2 |
correct explanation of (A) - | AT | | " 4
(c) Both (a) and (R) are true, but (R) is i () (A) 3N (R) o wd 35 f5d R),
t explanation of (A) : e T8 F 2
:
!

Q) A)EE R, B RTEEE

i s b
RSt i x e
s - .

ra— e e, R it b 257

(d) (A) is true,

e st ik o T @18@
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ﬁzgect answer using the Code glven below the
List - I Llst II
(Disciple) (Guru)
A. Kabir 1. Guru'Nanak Dev
B. Amir 2. Swarmi Ramananda
Khusrau 7
C. Surdas 3. Nizamuddin Auliya
D. Mardana 4. Vallabhacharya
Code :
A B C
(a 3 2 1
(b) 2 3 1
(c) 3 2 4
(d) 2 3 4

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : Public Interest Litigation in
India is essential for the rule of law.
Reason (R) : Public Interest Litigation
provides effective access of: Jus’uce to socially
and economically Weakeresectlons
Select the correct answer-from the code
given below :
Code :
(a) (A) is false, but (R) is true
(b) Both (A) and (R) are true and (R) is the

correct explanation of (A)
(c) Both (A) and (R) are true, but (R) is
not the correct explanaﬁon of (A)
(A) is true, but (R) is false

o, A !

Arrange the following ever_ljc_s in correct
chronological order and select the correct

answer from the code given below.
1. Battle of Kannauj
2. Battle of Daurah

. Battle of Samugarh
. Battle of Chausa
Code :

(@ 4,2,1,3
(c) 2,4,3,1

———

(d

63.

(b) 2,4,1,3
d) 4,2,3,1

CIZU~1~23

61. W—Iméﬁ”n@@aﬁ” WW%Q
T fow o e w1 v @ IR G

T -1 g -1
(frem) (%)
A. FER 1. 7% T <
B. 3R g 0. T@TH! THHE=
C. ge™ 3. FremEH sffern
D. HeHy 4. ToevTETE
E
A B C D
@3 2 1 4
b)2 3 1 4
(c) 3 2 4 1
d2 3 4 1

62. = 3 o fer mu &, RFH T @t afiseA (A)
q1 g Y FAO (R) Fe1 TR |
aTfreRer (A) : MR | SRS ATTEhT ST e
% fore stmavass 2 |
FROT (R) : STRa Ffent @IS R A1RS T9
T HASIT S oh) T Teh THTIHH UG e HLdT
2

BT < fog o o @ Wl oo PV

r“.'%@:

(a) (A) T 7, fg (R) 9@ 2

(b) (A) 3R (R) 1 T & 3Tk (R), (A) T &
STEAT LT 8

() (A) 3 (R) S @& 2, g (R), (A) T &&
T T8 BT 2

(d) (A) T 8, fFg (R) TToid @

63. Trefeiaa aeat 1 U SeshAER A 1§
safera e aur = feg T % | w6 SW
! T |
1. HN H1 IG
2. CNIE 1 Ig
3. WG H1 Ig
4. =€ w1 Ig
He:

(@) 4,2,1,3 (b) 2,4,1,3
() 2,4, 3,1 (d) 4,2,3,1
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EZ% B Clzu.
N e e PreREe T W ey
64. Arrange the following States of India in the % 64. T a; 5 g5 3 STt ﬁ;: Q’Nm
ascending order on the basis of their area | o N T gﬁ'ﬂ Rl :ha ﬁ;q
and select the correct answer {r om the code } e H H-Eﬁ ! |
given below. ‘ 1, g
l
1. Haryana : 0. femm=c e
E\;‘@ 2. Him_achal Pradesh } 3. 49
ERE 3 Punjab ’ 4, IATETS
4. Uttarakhand } .
Cod ' '
oce ‘ (a) 3, 1, 41 2
(@ 3,1,4,2 { 1342
(b) 1,3,4,2 | (b) % ’2’4
(€ 1,3,2,4 } (e 1,32
(d) 3’ 1,2’4 ‘:7'_7 : (d) 3, 1,2)4
s
= l
65. With reference to hydroelectricityin North | 65 30" v 3 et o < sl H, Freafee
India, which of the following statements -/ T T 2% 7
is/are correct ? Wmﬁmﬁmﬁﬁmm
1. There are huge possibilities of
hydroelectricity in the Himalayan 2. Tl IW e 3 foRm 38 &
, rEeglon et T8t o TR i 3T I H TR
. Eastern Uttar Pradesh and Blhar YTl 37T
cannot utilise this potentlal because 1 <fe 2l
the Himalayas situated to theu‘ North 9 few T R F g W M
lies in boundary of Nepal. = -
Select the correct answer from the code R
given below : () AW 1AE 2
Code :
(a) Neither 1 nor 2 (b) had 1
(b) Only 1 (c) et 2
(c) Only 2 .~
(d) Both 1 and 2 (d) 132 g

66. Tt (gEre) & wed H, Fr
FH-T1/Q FoH TG /R 1
1. T9F Y] R fheq e T

66. With reference to Isotopes’, thch of the
following statements is /are correct ?
1. Atoms with identical atomic numbers
but different atomic mass numbers

are known as isotopes. AT QT3 T TS e
9. Protium, Deuterium and Tritium are 2. Wifezm, B! 3 fefem Fe
isotopes of carbon. T B |

|
|
i
|
|
i
i
|
|
Select the correct answer from the code : [E]¥ ] EieY ﬁm " '
| R T Fe | TE IR A
' |
|
i
|
{
|
I
|
%

%7@ given below : I %
@f’ié Code : N
(a) Neither 1 nor 2 () A 197 2
(b) Only 1 (b) e 1
(c) Only 2 (c) a2
(d] Both 1 and 2 (d) 1 aﬂ_{ Zal':h

- i o " i A R

onc et e e
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,-g CIZU-1 - 23
) ’6:/"._wMatCh List — I with List — II and choose t67. I - géﬁ”_'h g gafed AT IR ghui

3 9 fag Mg e 1w F N SR |

the correct. answer using the code given

!
2
below the lists. ‘ ! BT [E] -1
List — I List - II 9#‘?& LT - ( F@?\B
(Committees (Chairman of | ole (mmaﬁ afafe 3 sreas)
of Constituent Committees) ; wfufear) .
Assembly) ) = A T dfee affa 1S T AR
A. Union Constitution 1.Dr.-Rajendra | A 3. .
Committee Prasad : B. sk fogm wfirfa 2.9 A EREIED
B. Rules of Procedure 2.J. B. ! C. w1y gfufd 3'31', - HK.
Committee Kripalani g HHEEH
C. Drafting Committ 3.Dr. B. R. ! =
& e Ambedkar : D. Hifeh iR 4. SRR 88
D. Fundamental Rights 4.Jawaharlal i Iy-gfafa
Sub-committee Nehru I Fe:
Code : o t :
i A B C D
A B C D LA !
Pt (a) ]. 4 3 2
@1l 4 3 2 j .
(b) 1 2 3 4
1 2 3 4 !
B i 02 1 3 4
02 1 3 4 :
@4 1 3 2 @4 1 3 2
Feu’ % wed T ¥ HH-91/8 HUA
68. With reference to ‘earthworms’, which of the 68. A %/25 TeH A frefead /
following statements is/are correct ? ? . .
1. Earthworms improves soil fertility and 1. argq faedt Eﬁ’r.:{é'{ﬁT =l 3131% 2 3 fpmmi
are known as farmer’s friends. ¥ forg ¥ =9 o 99 9@ % I
2. Earthworm has two pair of hearts. 5. ﬁqﬁésﬁtﬁmzﬁ% I
. S_elect the correct answer fI‘Ol’I?;t.-l".le code A4 fou e R 3 = IR gﬁq :
E'{E b . [
ﬁ given below : Te:
Elfﬁg Code : - q1AE2 (b) e 1
(a) Neither 1 nor 2 (b) Only 1™ (a) Far 14 e o A
e d 1
(c) Only 2 (d) Both 1 and 2 i 2 . ) 3 & B-ar/a
69. With reference to ‘Atal Tunnel’ which of the 69. ‘3T g’(‘T% a; eyl 1 frafaRaa ° 9 sHA-91/
following statements is/are correct ? FHUT I 2/B ? R o
1. This tunnel is the world’s longest 1. 98 'g(r[ faga &1 gad =l TSEE gtg 21
highway tunnel. L ) o1 Feevrer <61 i gl § TS
2. This tunnel is built in the Pir' Panjal 2. jg%iﬁ” ol
range of Himalayas. e . - .
Select the correct answer from the code E]!:‘:E'] A2 few ¢ He @ T W AT :
given below : r ; :' '? He :
C°d§ =_th ) 2 (b) Only 1“' (@ Ad 198 2 (b) Hae 1
a) Neither 1 nor i e
((c; Only 2 (d) Both 1 and 2 (c) hadt 2 (d) 1 3R 23

70. Ry ot g @ wefRe Fefaiea gl

70. Which of the following archaeological sites Ll i _
it el # @ F 37 ¥ I N A PR R 7

related to Indus Valley civilization are

situated in present day Uttar Pradesh ? 1. T
1. Mandi 7%

2. Rakhigarhi 2. TENTE!

3. Hulas o 3. g™

Select the correct answer from-the code #= feu % q Tt I ﬂﬁq .

given below : e

Code : £ ) - 3 (b) )

(a) Only 3 (b) Only 1 (a) e et

(c) 1and?2 (d) 1and 3 (c) 132 (d) 1 3R
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Eg T v

BT E 1t A - U e i s !

71. Match List — 1 with List — II and select thé | ¥ = feq T R H &l IaT g | B

correct answer using the code given below | 'FEﬁ oy =

s e lists -u

i List - I List - II (gt @ &= 2025) (S 2023

\?\sg (Padmavibhushan (Awa:{ee 2025) A SR swsEm 1R a%

Fields 2025)

i
I
1
f
i
A. Trade and 1. Shri ]-' : ; fSERER
Industry Lakshminarayana | arfed iR foeam 2. ¢h mg\
Subramaniam ; B. 3 o RES)
B. Literatureand 2. Shri Osamu | c. « AT A
Education Suzuki, : AT
C. Medicine 3. Shri M, T. ; 4. o .
Vasudevan Nair | D. el - B W@
D. Art 4. Shri D.:Nageshwar | He
Reddyu.?' : A B cC D
Code : LA j 4 1
A B C D - 3 @2 3
@2 3 4 1 i m3 2 4 1
B3 2 4 1 @3 2 1 4
(c) 3 2 1 4 1 a
d2 3 1 4 N3 @2 3
72. Which of the following events toal_jplace inthe | 72. Ereffiga 3 & - TSN 1911 qqﬁag
year 19117 1. M %1 foueE © ST
) 1. Partition of Bengal revoked?
2. Transfer of capital from Calclitta to Delhi 2. TSHFT 1 B! & feoedt ftrd
3. {\J/Iuclipov{l pact between Corngress and 3. g qun geaw «fm % i TGS T
uslim League .
Select the correct answer from the code e feu e e q ¥ IW giflq :
given below : He
Code :
(@ Only 3 (b) Only!1" (8) 7 3 e ot 1
(c) 1and2 (d) 2and3 (c) 132 (d) 233

73, Match List — I with List — Il and’choose the

73. T - 1 g - 11 & ghfera i s

i
|
o2 |
corre?ct answer using the cod‘f:,:gilven below | - ¥ e 2 H S S Ed I 'g'ﬁﬂl
the lists. | ERE Hfh S
List - I List - II” e b -1 T -1
(Finance (Chairman) 3 Cfe (fer i) (remE)
Commission) A. TRl 1. <. . T
A. Eleventh 1. Dr. C. Rgngarajan : B. SRgs( 0 . E{Ts‘ . @
B. Twelfth 2. Dr. Y. V..Reddy i C. ?1’{33‘“[' 5 ’@qﬂ
C. Thirteenth 3. Prof. ALM. Khusro ! b . 3. L T @ o
El'f.iEl D. Fourteenth 4. Dr. Vijay'L. Kelkar : il 4, . foa @
E'iﬁ’a; Code : e [ &R :
' A B C D .‘ ; A B C D
@2 3 4 1 : @2 3 4 1
g3 1 4 2 i © 3
d3 2 1 4 : 1 4 2
L | @3 2 1 4

@2@ T
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9 74 thch Of the followmg Plogrammes/ i
Slch(e)gleeitls/ are NOT included in meeting | |
tzz)ezo ’5] tves of National Education Policy |
1. ULLAS ¢
2. DIKSHA
3. Bharat Nirman Programme

74

Select the correct answer from:the code
given below : £

Code

(a) Only 3 (b) Only 1

(c) 1 and 2 (d) 1and 3

The Global Financial Stablhty Report is 75.

released by which among the followmg ?
1. International Monetary Fund

75.

2. World Economic Forum "
3. World Bank 5
ESE Select the correct answer frorn the code
:gof?--r given below :
”"’% Code :
(a) Only 3 (b) Only-1!
(¢) 1and 2 (d) 2 axfcf_'é
76. Suez canal connects which of the following ? 76.
1. Atlantic Ocean -
2. Red Sea -
3. Mediterranean Sea
4. Indian Ocean
Select the correct answer fro\m‘the code
given below : o i
Code : '
(a) 3 and 4 (b)land2 i
(c) 1and 3 (d) 2and3
77. The Appiko Movement is assomated with : 77
which of the following Indian States ? i
1. Uttarakhand ‘
2. Uttar Pradesh ;
3. Kerala 4 :
4. Karnataka IS5 i
Select the correct answer from'the code i
given below : ‘ g [;:_]#,,
Code : oy f E],[‘ -,%
(@) Only 4 (b) Only 1, }
(c) 1and 2 (d) 3 and 4 i

CIZU-1 - 23

‘__,-,.,-_.._,__

Foaffan 5 & s/ /3, ude
forem R 2020 3 Fezdl F1 T FC H Ifirw
TE 7

1. 3oy

2. e

3. W fofor =HrEishH

3 fog o gz @ W I I

|Re:

(a) haa 3
() 132

At orefra feoren fedie Frfeiaa # & foeh 2ma
I H AN B ?

(b)ml
(d) 1313

1. SR qE I

2. fyga s A

3. faga <=

3 fo 0 e @ WA I I

%he:

(a) e 3 (b) < 1

(c) 132 (d) 2 3R 3

o e Freferfa § @ Rt e 2 7 TEE
1. A HERETR '
2. @GR

3. YHS TR

4. f&= TEETR

A fom e g7 F wE I I :

h<:

(a) 337 4 (b) 13M 2

() 133 (d) 233
ﬁmm@mwﬁ@ﬁﬁﬁwmmﬁ
g gaid 8/2 7

1. IWES

2. I T

3. &

4. HAEH

Y o e e & FA IR I

%®e:

(a) e 4 (b) et 1
@1@2 @3ﬁ4
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\ = -,_,_,_,..-__.,---.-,_-____,“.»,_.--w--"“"é WWWTWWW
Iron dome missile defence system belongs to | 7 o D7 ‘hﬂ %
Which of the following countries ? i . w7 E_g_ ~
1. France T T82. 1
2. United States of America 9. Wg T c
3. Israel o ‘ 3. SSUsd R t
Select the correct answer from the code ! # feu T FE F T IW I . 5'%_
given below : il ' Fe: qr%
Code : | (@) I 3 (b) 3w '
(@) Only 3 (b) Only 1 i 1 3 2 (d) 23k
() 1 d 4 ) s
and 2 (d) 2 and 3 |
’ - & .
, ez & ged § Frafafea § 3 .
79. With reference to lichens, Whlch of the .79 35 7 Hﬁt{\;ﬂ/g?’
ollowing statements is/are: correct ? f wE ?/R N '
1. Lichens are very good mdlcators of ; . e SgE 5 e =D s § |
5 pollution. } z.m@ﬁﬁﬁmmémg
Lichens grow well in po,lluted areas. ! N T T 3 R i
Select the correct answer fr. om the code i Frer fog T %2 ,
given below : ' %e:
f;?dl\eleuh 1 2 (b) Only 1 (@ ;;[ AL () & 8
er 1 nor nly -
(c) Only 2 (@) Both 1 and 2 (c) 2 (d) 13k 2
80. Given below are two statements one is 80. fi=Q F M E, A ? Sl (3
labelled as Assertion (A) and the other as qT g %! HRT (R) HaT T R
Reason (R). aifSrRem (A) : WA B HEER R e 3,
f #[El Assertion (A) : India has a' Parhamentary TR & HRITTRTH ST
Er ﬂ%i system of Government. ’“;;__ T (R) : | 5
Reason (R) : In India, the executive is o Saerft &l 7 |
responsible to the legislature. ' | f= feu o EJd T & IW gﬁq :
Select the correct answer from the code .’% e :
given below : o )
Cude ; [ (a) (A) e &, g (R) W& 2
(2) (A) is false, but (R) is trie. (b) (&) 3R (R) AT =t & iR (R), (3 Fi 7
(b) Both (A) and (R) are trué‘and (R) is the : ST T &
correct explanation of (A) : B S~ 3 ﬁ\ﬁ o
(c) Both (A) and (R) are true “but (R) is ' (e () ik (R) O EE (R), (AyslE 84
not the correct explanatlon of (A) i ST & T 7
(d) (A) is true, but (R) is false ‘ (d) (A) ==t 7, ﬁ;ﬁ (R) Toid 2
t
81. With reference to ‘Carrying Capacity of l 81. ‘wHTeRwl i g5 gOar F ool o Pt
Environment’, which of the following | PH-T /A w2/ -
statements is / are correct ? i /% i
1. The rate of resource extraction should f 1. wEnee freseeor Q, qEHA Weﬁa
remain above the rate of Tesource i it @t =fEu |
generation. - i

2. RIS i Ieqred, TataRer i

2. Generation of waste should remain within ‘;

the absorption capacity of environment. i BT < “fiet e e |
[=]7% select the correct answer from the code i 2 N .
Er Code : ! ®e:
(a) Neither 1 nor2 (b) Only 1 : @ IAM 19§ 2 (b) Faw ]
(c) Only 2 (d) Both 1 and 2 | (c) ae 2 (d) 1 3R Qﬁﬁ T
e e e i T S e
@ 24 @ e e

\ LS
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Match List =1 with Ligt .- 0"
correct ANSWer Using the Cogér;dgisveelﬁcli et}l(u)iv

the lists. ;
ist — I
(;SIer) :gist -
‘ D
_ Mahendraver ynasty)
A First man 1. R'c‘t_Shtrakuta
B. Kadungon 5
: . B
C. Amoghavarsha 5 Célljl?va
First : ola
D. Rajaraja First 4
Code : - Pandya
A B C b
@2 4 1 3
b4 2 1 3
©4 2 3 1
@2 4 3 1

Match List — I with List — II,:—é‘nd select the
correct answer from the code gj
AN given below

List - I List - II
(State) (Highest Peak)
A. Tamil Nadu 1. Dhupgarh
B. Rajasthan 2. Doddabetta
C. Nagaland 3. Guru Shikhar
D. Madhya 4. Saramati
Pradesh o
Code :
A B C D N
@3 2 4 1
(b) 2 3 4 1
g2 3 1 4
d 3 2 1 4

Given below are two statemeﬁté; one is labelled
as Assertion (A) and the othérl;as Reason (R).

Assertion (A) : Babur wrotq’{?uzk—e-Babri in |

Chagatai Turki. _

Reason (R) : Turki was the official language
of the Mughal Court.

Select the correct answer from the code given
below : .

Code : .

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A)is true, but (R) is false

@ 25 @

CIZU-1 - 23
i % M faw 0 e o1 A A HE I
; Th -1 ot - 11
! (virerer) (TrTeran)
! A. HegE wom 1. TFRE
3 B. g 2. Joad
| C. 3Tread wum 3, =
: D. TSIt werm 4. 9rsd
.
! A B C D
; @2 4 1 3
t b)4 2 1 3
€4 2 3 1
g @2 4 3 1
' 83 FE - 1w g - 11 & gafer hife T i
%ﬁ%ﬁ;’qm@@q@“rmﬁl
-1 T - 11
(T==) (T8 S=h =)
A. dferTg 1. gTe
B. TSEIH 2. rgEee
C. Anmets 3. % fier
D. #eT WRd 4. Rl EIZE
w2 EE
A B C D
@3 2 4 1
b)2 3 4 1
2 3 1 4
! d3 2 1 4
z 84. = 21 % feu wu E, f5= wh 1 ATRAA (A)
: TN AL 1 B (R) FHgl TR |
- HRTHUA (A) : T T TETS Tl H G- TS
B/ wror (R) : Goh1 g7eT Uam <6l Twwr 2t |
kS

]
1
i
t
I
i
i
i
{
|
|
{
i
|
!

() (A) e 2, fFg (R) ®E 2

(b) (A) 3R (R) St & & 3T (R), (A) 1 FE
ST Tl 8

(© (A) 3 (R) i =t &, R (R), (A) T =&
ST Tl il B

(d) (A) F&E 2, fpe (R) e @
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85. Wlth 1eference to Llfestyle for Lhe
Environment (LiFE), which of.the
following statements is/are correct ?

1. It was launched in .June 2022

2. Its idea was proposed at the COP 25 in

Madrid, Spain.

Select the correct answer fr om the code

given below :

Code :

(a) Neither 1 nor2 (b) Only 1

(c) Only 2 (d) Both 1 and 2

Given below are two statements one is

labelled as Assertion (A) and the other as

Reason (R).
Assertion (A) :

and inter-relation between them.

Reason (R) : The National Integration
Council was constituted in 1961 on the
principle of ‘Unity in Dlver51ty

Select the correct answer from the code
given below : L

Code :
(2) (A) is false, but (R) is true-

(b) Both (A) and (R) are true and (R) is the

correct explanation of (A)
(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(d) (A) is true, but (R) is fals?jef

. ,,\ f

Consider the following and arrange them in

correct chronological order. -

1. Food for work progra.mme !

2. Community Developmenf Programme

3. Training for Rural Youth for Self
Employment (TRYSEM)
4. Drought Prone Area Programme

Select the correct answer from the code
given below :

Code :
(@ 2,4,1,3 (b) 4,2,1,3
(c) 4,2,3 (d) 2,4, 3,1

@26 @

The concept of National
Integration involves political, economic,
Social, cultural and psychological dimensions

]
!
|
i
|
i

PRSP ‘

86.

CIZU\

wa@w
RN
1. s—g-:,f[ QOQQﬁW%W.{n
5. zes feram i Bfig, “‘"‘”’Wzs
Wfa—dﬁmwml 3
ﬁﬁﬂ%@gﬁmw:

?i)a.:r?ﬁ 178 2

(b) et | %ﬁ
(C) ’EHEWTQ

(@) 13k ozy =

13 & e fem TR, TR

aw@zﬁfm(}z)aﬁw

srfTeRed (A) Wm?ﬁeﬂamﬂq
Torhiferes, SATRIeR, |, Ao
ﬁ%ﬁmmwm%m%
wfEf € | |
<HTUT (R) © T T TREE 1 ey 1965

(Y
8

I% “3TYeRdT B Tehal %ﬁ?ﬂ?ﬁsaﬂwqﬁ\

S

87.

Hra fem T e B wE S g

E T

(a) (A)W%,W(R)saﬁ% c

(b) (A) 3R (R) &1 &1 & 3% (R), (335
o Sl 8

() (&) 3 (R) T & &, g (R), Wi
ST 81 Kl 2

(@ (&) =& R, fhg (R) e

frferfad w foem Sife a2 =@

A 1 Safed HIRv |

1. %M & 9et 3T HIHHA

2. 9eTRes faerg wriwn

3. W& USATR & fr efror el 1 0
(gT38)

4. QW@ 99 & hrimn

T fou M e & et g g

He:
(@) 2,4, 1,3
(c) 4,2, 3 1

ﬂS?’

(b) 4,2 L3
@ 2,431 -
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Which o °lowing Prepared the Annual | 88,
Report 2024 »
. Ontrol;

) Gentral Water B roliBoard

mission
3. Central GrOUndwa o

ter Board
Select the correct ap Y

Wer from the code

!
Bl siven below : ‘
2 i
mr Code . i
(@) Only d32 (b) Only 1 ;
(c) 1an (d) 2 and.3 |
i ference to oy ‘
9, With re O ‘0zone layer’: whi s
8 following statementg is/ ariycegxiij(;tu; b of the i 89.
1 Ozoneéayert shields the surface of the :
earth from PN S
o sun.e ultra—wolq‘g Tadiations g
2. Ozone depletion ha oot 4 !
the chloroﬂuorocarls)c})rf: 1 linked to |
Select the correct ang S
siven below : Wer from the code
Code : -
(a) Neither 1 nor 2 (b) oniy i
(c) Only 2 (d) Both l-and 2
90. As per the India State of Forestf}lileport 2023, 90.
which of the following districts in Uttar
Pradesh had forest over moré than 20% of
their total area ?
1. Bahraich
2. Chandauli
3. Shravasti a % .
Select the correct answer from the code
given below : "y
Code :
() Only 3 (b) Only(1-
(c) 1and 2 (d) 2 and3
91. Consider the following events and arrange 91

i

|

,!

|
them in correct chronological order.. ' *{
1. Acquisition of Awadh by the British |
2. Ilbert Bill Controversy o :
3. Indigo Revolt ¢ Ty i
4. Second Anglo-Afghan War .
Select the correct answer from the code |
given below : 4 f
i

i

{

|

|

{

-

COde: ' !
(@) 3,1,2,4 (b) 1,3,2,4
(© 1,3,4,2 (d 3,1,4,2

~——

— | - g
S artiad

@ 27 @

. -
- e

Reader and Editor

CIZU-1- 23
2024 AR FH T 7
L. Hh yegu o =18
2. & @ AR
3. F e A

[=]Z: @]

RERE § wd I 9HT T
Fe nE %
(a) I 3 (b) a1
(©) 132 (d) 2 3R 3

"IN T % e §f Frefafaa § @ wh-m/a

FY T 2/ 7

1. 3TH wa geeft <6 Faqs B g4 8 9 ameh
T fafewr & =T 2

2. JNH &R ! FARNGARIBE H SISl T 2 |

T few e @ v s gRT

%

@ ad@198 2

(c) et 2

(b) et 1

(d) 1 3R 2 gHi

Ra o9 feafa fdid 2023 F FATER, 39 wew
frafafen § & fer foell & 379 oo 9w
20% ¥ 3ftss WaT § ?

1. 909

2. e

3. YEa&it
ﬁﬁqmﬁéa‘aﬁwgﬁq:
He:

(a) el 3 (b) e 1
(c) 132 (d) 23w 3

frfafea gematl w feam Hife o = &
FHICTHHATAR 30 T Saferd hifvm |

Egﬁ‘_@ 1. IS GRI 31EY 1 AREEw
W 2. 3o fet faamg

3. it fagre

4. Teda Trell- 3 4

Fe:

(@) 3,1,2,4 (b) 1,3,2,4
(¢ 1,3,4,2 (d) 3,1,4,2
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22. Wthh of the following dJStI‘lCtS of .
Uttar Pradesh shares its boundary with
only one other district of Utta{?radesh ? |
1. Lalitpur 2 j
2. Saharanpur s
3. Sonbhadra ?

. < [5] Select the correct answer from the code

W% given below :

(b) Only 1
(d) Only ’2"—énd 3

(a) All 1,2 and 3
(c) Only 1 and 2

93.  Which of the following pairs is / are correctly

matched ? i
(Railway Zone) (Headquarter) f
1. Northern Railway - New Delhi
2. North Eastern —  Gorakhpur
Railway , -
3. South Eastern - ‘Cu‘ttack
Railway
Select the correct answer from the code
given below : 0
Code : {5
(a) Only 3 (b) Only 1.
(c) Only 1 and 2 (d) Only 2 and 3
94. Given below are two statements, one is
EE labelled as Assertion (A) and the other as

Reason (R). . ]
Assertion (A) : Investment in human capital f
yields returns in the future. :
Reason (R) : Education and health make ;
people more productive. - ;
Select the correct answer from the code E

i

given below : ) ;
Code : | F‘ :
(a) (A) is false, but (R) is true 3
(b) Both (A) and (R) are true and (R) is the |

correct explanation of (A) - :
(c) Both (A) and (R) are true, but (R) is *

not the correct explanation of (A) :
(d) (A)is true, but (R) is false ;'
|

B i R — s
o

E o

93.

94.

ﬁ%&mﬁﬁgﬁmgﬁq:

F2:

(a) @ft 1,2 3R 3 (b) ey |

() I 1 3R 2 @ g,

(e Aae) (H"»;ma) |
1. S| @@ - T
2. S T - Ty
3. R g W - g
A= T T Fe & wE W gfw .
%<
(a) et 3 (b) et 1
(€ F9€ 132 (d) Tt 2 a4

A < e e e E, o 2 o ) o

T G B HRV (R) el T |

SHUH (A) : T Gt P & e

fiveran 2 |

FNT(R) : e ik ey &l 5 s

STUTCH o914 7 | |

e e d v oo

E T4

(a) (A) T R, forg (R) B 2

(b) (&) 3k (R) 21wt § stk (R), (A)F
SATEAT T @ ,
) (4) 3 (R) 31 wi &, Feg (R OF
ST T5Y hear

(@) (A) 7 3, g (R) e 2

iaare—

e

@ 28 @ —————
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22 ith reference to ﬂ;; Ggir:lt“s,*'“'
3 h of th -~
statements is/are Corras fol Owing
. Art{Cle 109_ of the Ceocrg ?. . P
India provides fo, 10 Stitutionf

vy ) e o S I D e e e e a1

X p——— S EEE
F-T1/3 Fo T R/E 7

- 95 parliament’, whic

| '}ng of

|
{
|
. A Joint Sittj i | d 3 el
2 be called to o8 Of Parliamen ;- Z e e sk 2
Amendment Bius a Constimtibn;y ! 2. Hfyum guee fadaes & = $;§W
select the correct op ¢ ’v'RE E| FI'QEH EEEd ATEd ST HHA R |
given below : answer from the code : 2w > g
Code | 55 MY e | Hal IH :
ith :
g gglth ?ralngcg 2 (b) Only 1 : (@ Id1a8d 2 (b) heet 1
@) Oniy 2 © 13R2ad (@) FF@2
27¢
with reference to w. \
96 . orld Ban_k . i . 5 .
rnational and: B wi
b lowing stat Monetary Fund, whigy of the | O 1 % i siiefa i i 3 Had 3
fcl’ O,}T;g Wigr;elécs 1i/are correct " Trrfafas & § Fr-a1/d FUT T 2/8 7
. an aIld 5 . . . i A .
Mocll’letary Fund wers SetII:th;&at;ﬁ:i i 1. fawg §% a3kt Jausdia g1 B A T
;noodar Tsmlilzpularly known aéfﬁﬁB%etton T e hY T I 3T w9 35 ES
‘ J[gaT el W1aT B |
2. Heaiquarters of Internationaj Monetary : o § 5
Fund ‘and World Bank are located 2. IR qg1 Sy 3R fava d% +1 geae™

at WaShington D.C . . e g &
respectively. - and New York | AT ARATe .. 3 =Tk § fRm R

(=] 5 3o 2P
. § ot x‘_-:": _:'T' ﬁ -ér I .
@%E‘ Select the correct answer from tl}e:—code Eﬁ e :ﬁQ ¢ g

’q“l__» ' given below :

Code : e |
(a) Neither 1 nor 2 (@ Fd@ 198 2
(b) Only 1 (b) et 1
(¢) Only 2 () Faet 2
(d) Both 1 and 2 (d) 13K 2

97. Match List — I with List — Il and choose the | 97. ¥ -1 % g — 11 & gafera $Hifvre sk giet

correct answer using the code given below 3
the Tists, g A | % i fo T e 1 R e s g |
List - I List = II i qeli- 1 T - 11
(Lok Sabha) (Lok Sabha | (e ) (eiren T aveme)
Speaker) ? A 11 & S
eat ) a1, AW fasen
A. 11%h Lok Sabha 1. OmBirla | 5
B. 12th Lok Sabha 2. P, A’ Sangma | B. 12 i 7t 2. i, wom
C. 14th Lok Sabha 3. Somnath g miE C- 14 A a3, Sy e
Chatterjee | X S
st D 17di S w0 4. Sftum ). St
D. 17%h Lok Sabha 4. G.M.C. Balyogi | [Ef: - .
Code : 2 A B C D
A B D

@a o g , { @4 2 3 1

’ b)2 3 4 1
b2 3 4 1 ? (
2 4 3 ! 2 4 3 1
@3 o 4 1 ! d3 2 4 1

\\\‘“\-—..ﬂ___,__ e e e e e e e e et o e b e e e
e @ 29 @
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98. Pradhan Mantri Mudra Yojana comes under
. which of the following ? -

|
AT

Affairs ; 87
' ai - -~
1. Ministry of Corporate | AR 1. SR ST 7 Harerg
2. Ministry of Rural Development { )
2. _ N , 2. T o varem
3. Ministry of Finance ¢ 2l : 3. frg 5
Select the correct answer from the code : \ AT
given below : z ﬁ?ﬁmﬁﬁaﬁmﬁﬁq Eg
Code : } : ';
.a ’
(a) Only 3 ; (a) e 3
(b) Only 1 g (b) et 1
() 1 and2 R (© 132
(d) 2 and 3 el (d) 23k 3
99. Which of the following two are the major { 99, Frefeafad § @ 99 &, amiig 3 TE T, §
constituent of Bio-gas ? s i (
1. Methane oy i 1. ™o
2. Butane - 2. A
3. Carbon dioxide 3. e TE3TETES
4. Carbon monoxide ' ; 5 i
Select the correct answer from the code * i ‘ 0]
given below : = e fou T e § w3 T E
Code : \{:}1 +®e: |
(a) 3 and 4 a2 (@) 334
(b) 1 and 2 11 (b) 132
() 1and 3 - () 133
(d) 2 and 3 (@ 23k3
100. Who among the following Indian novelists 100. Trfafea & § 2955 TRAT I9=IehR 3iR 3
and journalists is/are part of the five 2026 F m £ 7% A
member jury for the 2026 International ! 1 e 273 4 IH IR Hl 9T gewig
Booker Prize ? ek ; °
1. Natasha Brown ‘ 1. FAmm e
2. Kiran Desai ; 2. oo s
3. Nilanjana S. Roy <3 § 3. oo .
4. Rajni Chauhan t 4. T e
. Select the correct answer from the code i - -
EE ©¢ = T few T e A wd v g
7 given below : i
=7 i w2
’ Code : !
(@) 3 and 4 i (a) 33 4
(b) Only 1 ; (b) St 1
(c) 2 and 3 (c) 23t 3
{ %ﬁa
(d) Only 3 (d) &

)

@ 30 @ T e e e e
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V4
7

o 's Executi i
101 " cutive Council, saddened by

. ricer
:/yitci J Jllianwala Bagh Massacre ?. ;-
g chettu'r Sankaran Nair Yy
i [shwari Prasad ‘
" yfuhammad Shafi :
4. 1abal Narain Gurtu -
t the correct answer from tli‘lé"lcode

gelect
pelow :

given
code

@ Onlyd43 (b) Only 1 ™)
( 22" (d) 3and 4 '’

.ch of the following distri

102- ‘pNhl of the Devipatang[()iii;si;rilocrﬁsif/;,?re

yttar pradesh ? Ty

). Basti

2. Bahraich

5. Balrampur

gelect the correct answer from the code

givent below : .

code :

(a) Only 3 (b) Only 1 <

) Only 1 and 2 (d) Only 2 and'3

Lok

103. Consider the following Election Réforms
in India and arrange them in correct
chronological order starting from earliest

to the last.
1. Voters photo identity card

9. Electronic voting machine
3. Voter verifiable paper audit trail
4. NOTA pod

Select the correct answer from thg;fcode
given below :
Code : o

(@) 1,2, 4,3 (b) 2,1,4 3"

( 2,1,3,4 d 1,2, 8, 4

al Environment

104. With reference to Glob
g s;atements

Facility, which of the followin

is/are correct ? i

1. It was established in 1991. [‘!‘l '

2. Only the Jeveloped countries are

: donors to it. o

l%l%';' Select the correct answer
fjig: given below :

Code :

(a) Neither 1 nor 2 (b) Only 1
(d) Both 1 and 2

from the A"code

;}’ﬁ »
.l - e - -t " -y —
" o among the following resigned from the | 10

Made with Xodo PDF Reader and Editor
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%Eﬁqrat@'ﬁzm a
1. s

0. U

3. FHAL
ﬁ%’ﬁamgﬁaﬁﬂﬁmi

%e

(a) @ 3 (b) <t 1

() e 1 3T 2 (@) e 2 33

103. mﬁﬁm%f@ﬂg:nagmﬁmﬁaﬂm
ms%wﬁqeﬁ@éaﬂan&aﬁam%@

_ Wmﬁm@ﬁﬁﬁm

E@. 1. TeEr Bel gge T

i 2. samgih dien
3.%%&%@&«3&2-&1

% 4, A
g 43 fo T e @ T I I
E e
' (@) 1,2, 4,3 ) 2, 1,43
(© 21,34 d 1,2,3, 4
104. a%mw@m%éaﬁﬁﬁm%ﬁémﬁa

|

E ST/ weE T B/R 7

': | wah e 1991 H &8 Al |

g 2Wﬁﬁﬂ%ﬂ@m¢m(@m)%
i

|

:

|

) fo e g & W I G
F

(@) AT 1AR 2 (b) e 1

(c) hee 2 () 13t 2

e @ 31 @
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105 Mateh List - 1 with List =TI and select the
Correct ;,"g\vm’ from the code given below

O 0!

I)”
-

4

r
s

106,

b
o
by

(=] [=]

P

the lists.

List - 1 List - IX
(Sustainable (Area of Gonl)
Development Goals) '

\. Gonl 1 1. Clean water and
sanitation

B. Gonl 3 2. Quality education

C. Gonl 4 3. To end poverty in
all forms

D. Goal 6 4. Good health and
well-being

Code

A B (o D
(a) 3 4 2 1
(b) a 3 2 1
(c) 4 3 1 2
(d) 3 4 1 2

Global Wage Report 2024-25 was released
by which of the following organisation ?

1. International Labour Organisation
2. World Bank -

3. International Bank for Reconstruction

and Development

Select the correct answer from the code

given below
Code :

(a) Only 3
{c) 1 and 2

(b) Only 1
(d) 2 and 3

Martch List — I with List - 11 and choose

the correct answer using the code given

below the lists.

List — I List - II
(Port) (State)
A. Paradeep 1. Tamil Nadu
B. Turticorin 2. Kerala
C. Kakinada 3. Odisha
D. Alappuzha 4. Andhra Pradesh
Code :
A B C D
{a) 3 ] 4 2
(b) 1 3 B 2
(c) 1 3 2 4
d) 3 1 2 4

|
|
!
|
|
|
[
|
|
1
l
l
{
[
[
|
[
[
I
|
f
!
|
i
|
|

e o S 1. I B - O

1 705

106.

107.

TR 0
A -farf.ﬂu.&?ai!mm%ﬁ ‘ﬁf‘“‘?-ﬂm £
T - 1 Ty

Rrerra -y
A. ;. %mh,%
. e 3 i
B . 2. Tt o
S A 3 TR 3 g
I oy
D. T 6 & o,
Fom
E
A B c D
(@ 3 4 2 1
(b) 4 3 2 1
(c) 4 3 1 2
(d 3 4 1 2
Freferfad & 9 60 @ gm 360 .

2024-25 9 & T B 7

1. I 2m Hrae

2. fawa ¥

3. STt gAmio v R S
A fau o e & T I gf

He :
(a) *ae 3 (b) *eret 1
() 132 (d) 2 3 3

T - 15 - 1" Hhfem Aifw s g
& 1 fau M0 e w wEm w w ww an
T - 1 Tt - 11

(uw) (=)
A. 9TEM
B. qfa=iie

AfeTg
C. HrbMETSI ifgom

wlo:—»

™ e

- W W~
NN+ 20
AN Y

N
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G -~ 1 of thé f o —
’/, Wh1Ch o OHOWI
08 jjghter than air 8e

1. Hydrogen chlorige
2. gulfur dioxide

3, Helium
gelect the correct an
given below : Swer fr om the code
code - -
Only 3
a
S o
) 2and 3

uswavalambim'”, a wome
n
a.xrll’lmef for the Nort _en;rs%preneurSMp
by which of the following mip; is launched
1. Ministry of Skill DeVelophiStnes ?
Entrepreneurship . ent and

n. Ministry of Women Can
Development and Ch‘ld

3. Ministry of Micro, S o ,
Enterprises mall and Medium

gelect the correct answer f;

given below : et the cods

109

Code :
(a) Only 3 (b) Only-I!
) 1and 2 )

(d) 2and3

Arrange the following in chrof}gibgical order
. of their rule and select the cotrect answer
[:_'I‘_'!‘ from the code given below. b |
[ﬂ'{“{% 1. Bajiraol o
9. Balaji Bajirao

3. Balaji Vishwanath
4. Madhav Rao I
Code :

110.

(L Al

Which of the following languages is/are
NOT included in the Eighth ‘Schedule of

Indian Constitution ?

1. Nepali

2. Dogri .

3. Bodo oo

4. Bhojpuri
I_E]i"'@ Select the correct a1
Ei‘fﬂé given below : .

Code :

(a) Only 4
(c) 1and 2

111.

swer from, the code

(b) only 1
(d) 3and

PR s

Made with Xodo PDF Reader and Editor

CIZU-1-23
108. Frefirfs & 4 g ﬁﬂ’;'aﬂ 2T ;/%*?” 7
1. BEGH FANES
2. TEH TRATEERS
3. Hiferam
gﬁum{aﬁqﬁmgﬁﬂ:
(a) e 3 (b) a1
(0 132 (d) 233
109 @“%Wuﬁwmmﬂﬁ“mﬁﬁ'
Somfofian 5 & fopg e S70 T T T 7
1 et ferepr 3t et A
0. wfien TE | ferehrE HACT
3. %‘q,?rgaﬂwma'aﬂm
R fog o e & @€ I AL
E T
(a) et 3 (b) e 1
(¢) 132 (d) 0 3 3
110. ﬁn%?@aaﬁd—-r%w%mwﬂwﬁ
sqer@mrﬁﬁmwﬁﬁqmizéwéw
, |
i 1. =i
.[‘& 0. ST SN
I SIRCECELR)
4, WiEd T 1
qe:
@) 3,1,4,2 M) 1,3,4,2
© 1,324 (@ 3,1,2,4
111. ﬁmﬁf@ﬁmaﬁﬁﬁﬁq-mwaﬁam%mqaﬁ
mﬁﬂ%ﬁﬁwﬁaqﬁé/ﬁ?
1. ATt
9. S
3, del
4, Wql
ﬁmmﬁﬁwﬁmmwm;
I \
(a) F 4 (b) et 1
ERELE ) 334

-

)

I @33@
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112, With reference to ‘Silverr
€ following statements

S gl 5 A, FrARTET A

articles’, which of | 112. R e
Is/are correct P | F-a1/8 I T /8 T

ﬁafﬁﬁm%f@ﬁﬁn%n—m/ﬁwa@%/g?
1. e F @ § gee § Heg o T g
S-S et TR T 3eTe SHET S R |

Bio_-decomposer and Spray Programme’
which of the following stateme ,

nts is /are
Correct ? O

1. The Bio-decomposer solutign is
provided free of cost to farmers to help

1. Silver articles turn blagk ! S 1t g % e # I W F
g ;nne when exposed to ajr, . ter =ome ’ 1. are HIcl 21 Al B |
[ipappens dtetocoutingoaie | T e
€lect the correct answer from fhe code f 1 fam T FE § HE IH T :
%W:‘:ln below : =2 i %z :
Ode : e ] . -
. 5 $hdd 1
(2) Neither 1 nor 2 (b) Only 1 f (a) Fa1 14 &2 () 1 3t 2 e
() Only 2 (d) Both 1 and 2 : (c) o 2 @
113. wj : ! X qE-Seue Ud T HIEEE §
ith reference to ‘Delhi Government’s ' 113. feeedt TR X
5
i
i
i
f
i = ~ - .
convert stubble into manure! 0. -SSR G s Hashl 1 ST g
2. The Bio-decomposer solution is Fare fope Siet R
pPrepared using a mix of several fungi. ﬂﬁl . :*'E
Select the correct answer using the code = fow e e T I ' :;‘L&
given below : . w
Code : P k3 N N 1
(a) Neither 1 nor 2 (b) Only 1.1 () A 1T 2 (k) o5t
(c) Only 2 (d) Both 1‘and 2 (c) e 2 (d) 13 22
114. Which of the following is /areal Financial | 114. Fre=fefed # ¥ S9- wra & §9g 1 foxim
Committee of Parliament in India ? gfufa 2/2 7
1. Public Accounts Committee 1. o o@r ol

2. Estimate Committee
3. Committee on Public Undertakings
Select the correct answer from the code

2. Yraehed THfd
3. HEsies I9shH Fifd

given below : = fgr M %< g & IW ﬁﬁ? :
Code : & -
(@) All1,2and 3 (b) Only 1° « (@) ®ft 1,2 3R 3 (b) Faw 1

(c) Only 1 and 2  (d) Only 2'4nd 3 (c) et 1 3R 2 (d) e 2 3R 3

115. Which of the following countries'is/are NOT | 115, fr=ifofaa & § HE-T/A W GE Ggam ui

i
|
i
a member of the Gulf Cooperation Council ? . o1 fewmn & 2/3 2
1. Bahrain i 1. T8l
!
2. Iran i 2. S
3. Iraq ! 3
4. Qatar b 5 - ¥
iy i 4. .
[ [E Select the correct answer from the code ' OR
-f’ﬁé given below : { :ﬁ%mwﬁgﬁﬂﬁmgﬁq; *?e
: t . 3
(=1 Code : | He : &3
(a) 3 and 4 (b) Only 1+ ‘ (@) 3 3R 4 (b) Fae 1
() 2and 3 (d) Only 3 :

(c) 23M 3

(d) et 3
@34 @ '

e e e e e e e e ) L
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_« with reference tq ‘H&;nanb

Index’, which of ¢ o,
is/are correct he follong

+ e .

evelopment !

116,
statements |

o]
[
=
=
7
B
a
[oR
Bl
it
=
7]
&
s
e
g

EEEl Select the correct ans

T

m. Lae . .
R_@ given below :
Code :

(a) Neither 1 nor 2 (b) Onlls;{ 1
(c) Only 2 (d) Both'1 and 2

Wer using the code

117. Which of the followi irs ;
correctly ma‘cchecllo';mrlg pairsl is/are NOT
1. National Voters -

Day (India) AR GRguary !
Constitution
Day (India)
Human Rights
Day (World)
Select the correct answer
given below :
Code :

(a) Only 3
(c) 1 and 2

117.

2 ~ 27 January

3. — 29 January

firc

,'r'n the code

(b) Oni§.i
(d) 2 and'3

Consider the following and arrange them in
the correct chronological order.

1. Atal Mission for Rejuvenation and
Urban Transformation
Jawaharlal Nehru National Urban
Renewal Mission .

Jal Jeevan Mission

118. 118.

2.

fa

3.
4.

National Urban Housing and Habitat Policy

Select the correct answer from the code E
given below : }
Code : ?
(a) 4’ 2’ 1’ 3 (b) 4: 21:_'3: 1 t
(c) 2,4,1,3 (d) 2,4,-3, 1 |

119. Which of the following pairs is/are NOT 1109.

correctly matched ?

:“E@ (Pass) (State/Union
prles Territory)
Erﬂé 1. Lipulekh - Lada.kh
2. Nathu La — Sikkim-
3. Bomdila - Arunachal Pradesh
4. Shipki La - Himachal Pradesh

Select the correct answer from the code

given below :
Code :

(@) Only 2, 3 and 4
(c) Only 1 and 2

§
i
|
g
i
H
{
|
|
i
i
i

(b) Only1
(d) Only 1, 2

and 3

PR

@ 35 @

B -

CIZU-1'_ 23

s s e s
Y

T ferepr et 6 wed H Fefafea 4 &

PR3 T 2/E 7

1. g, @ . i, 3 1990 # T el wre
ferepr foivs syt <61 ot ol e e
TIHTH o7 |

2. I R Fereies fohiad U A waeh
"g:'mzmﬁaanzqg—za—%iﬁ 3 T, e

|

e fow e e & = I I
e :

(@ Fd 198 2 (b) e 1

(c) et 2 (d) 1 3R 2 A

’gmfa%aﬁ@raﬂq—m/ﬁgm%ﬁgﬁﬁﬁqﬁ
/g 2
1. U wagmar fead (IRd) - 25 Sl

2. Hfgue fesm (Wrd) - 27 T
3. ArETieeR fegm (fowa) - 29 sHEd
Hr fow e g & @ IR IHC
Fe:
(a) Shaw 3 (b) a1
(c) 132 (d) 23R 3
Frefifgs w R =t T 3% T

Y Saierd |

EIEE 1. srew e S el st

3. I Sftea fiwm

4, TR Tl e v wraE Hifd
Hr feou T e & TR IW g :
He:

(b) 4’ 2’ 3) 1
d) 2,4,3,1

(=) (T /g TE Wew)
1. fogei@ - W
9. Y T - fafesn
3. Smfgen B IEE R
4, fooeht & - TeuEe W
fi= few T e @ W IW AT :
%z

(a)'m2,33ﬂ'{4 (b) hael 1
(c) e 1 3 2 (d) Feet 1, 2 3R 3
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120 Wxth reference to ‘Ecosystem Whlch of the 1 120- /& e @l %/% 7

following statements is/are correct ? | a:ﬁ:r—\ a8 aifd=afaeht a3 o AT gy

1. Green plants in terrestnal ecosystem 3 1. ® qg%(’éﬂ?ﬁ :{q <h1 Tt EIRSHE 1% 35
capture about 1% of energy of the ! RS
sunlight that falls on their.leaves. j 1 TE 1

& by mﬁ-q; qa]?f mlaalem

2. Around 10% of organic matter reaches l 0. T 10% s

to the next higher level of Gonsumers. : 37Tl 3=d &L < qgﬂ?ﬂ 2

Select the correct answer from the code
given below :

o -ﬁmmzﬁzﬁﬂé‘mﬂm

Code: . E “ a 1 :{‘é} ) (b) m 1 .
(@) Neither 1 nor 2 (b) Only 1- ) (@) 1323
(c) Only 2 (d) Both1-and 2 (C) ikl

121. Which of the following enzym'ég is/are

released in stomach for protem 'digestion ?

;ﬁ@qesqmq'é?%rqmmﬁﬁmmaq

21.
! P& togH e @ 2

1. Chymotrypsin At 1. SHIEHMEH
2. Trypsin 0. ffam
3. Pepsin 5 A
Select the correct answer usmg the code 5 feu T HE T WEl IW gHT :
given below : Tz
Code : oy :
e (a) et 3
(a) Only 3 2 s
(b) 1,2 and 3 (b) 1,2
(¢) Onlyland2 =~ - e (c) e 1 3T 2
(d) Only 2 and 3 - (d) T 2 3R 3
122. Match List — I with List — I and choose the | 122. T - I g - 11 & gofera i 3R g
correct answer using the code given below H= feu @ FHe TN SR Hal I @,”F—m \
the lists. By i -1 -
List - I List - II g S S |
;F-é (Iron-ore Mines) (State) i (FTie— 31T WEM) (=) 3
" A. Gurumahisani 1. Jharkhand i A. TeRtgET 1. QS
B. Bailadila 2. Karnataka i B. Senfeen 2. HIH
|
C. Noamundi 3. Odisha l C. ramgug 3. anfsam
H
D. Kudremukh 4. Chhattisgarh g D. $3q@ 4. wdaTe
Code : : L T8
A B C D e i A°'B C D
@4 3 1 2 xe : @4 3 1 9
i
(b) 3 4 1 2 { : k)3 4 1 o
©3 4 2 1 ; | ©3 a4 2
. !
d4 3 2 1 , @4 3 5

@ 36 @ T

R o
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25, Which of the followmg countnn
a member of the Bay of B N
for Multi-Sectora] Techmcalen
Co-operation (BIMSTEC) ?

1. Thailand
2. Nepal

3. Bhutan
4. Indonesia

Made with Xodo PDF Reader and Editor

e e

Select the correct answer frofn the code

given below :
Code :

(a) Only 4
(c) 2and 3

124. Which of the following sites were obtained

(b) Only 1
(d) lanq4

by the British East India Company under
the Treaty of Sugauli in 1816 ?

1. Kathmandu
2. Shimla
3. Ranikhet
4. Nainital

Select the correct answer frorn the code

given below :
Code :

(a) Only 3 and 4
(c) 1and 2

125. Given below are two statements, one is

f‘f-"
(b) Only 1
) 2,3 and 4

labelled as Assertion (A) and the other as

Reason (R).

E"r El Assertion (A) : Poverty line d1ffers across

",é time and countries.

Reason (R) : The basic needs of people vary
across regions and overtime.,

Select the correct answer from the code

given below :

Code :

(a) (A)is false, but (R) is true

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(c) Both (A) and (R) are true, but (R) is
not the correct €x

(d) (A)is true, but (R) is false

M g e o e Gt et O S S

planation of (A)

!
i
i
|
|
{
:

@3

CIZU-1 - 23

sm/areNOTI 123 ﬁ.q' ﬁﬁk-'""”“ -
gal Initiative qq?ﬁ’l—'{:ﬂ/ﬁ%ﬂ ]’”E‘ﬁ'@ﬁﬁ

and Economic

Te-8rfrn e o anT AT T

M)mm:ﬁf%?
L. urgefe
2. T
3. er
4. geHfom
A fow oy e & wd v AT
e
(a) et 4 (b) el 1
(c) 23 3 d) 134

124. Frafirfag 3 3 #H-H 918 1816 F Gl

lv’Em%mmmmmmmaﬁ

#ﬂgﬁﬁ?

1. TEATg,
2. Rmen
3. THtEa
4. Fhara
e
(a) ad 3 3 4 (b) et 1
(c) 132 (d) 2,334

105, 49 S wyA g E, R & w i AR (A)
am?gﬁm‘rm(maaaw%l
W(A):ﬁm%@lmaﬁisﬁ%
argey it 2l 2
W(R):aﬁrﬁzﬁwmaﬁaﬁt

T ¥ FER = 2l R
i ﬁﬁqm%ﬁmﬁmgﬁn:
*v
i T
() (A) T 2, o (R) W&t 2
(b) (A) 3R (R) 31wt & 3 (R), (&) 1w
ST T 8
(© (&) 3R (R) 1 = &, B (R, (4) Td
ST T8l HT B .
(d) (A)a‘é\% ﬁﬁﬁ(mma
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126. Cons;j ':a;t}ie ‘tenure?:?&‘ng ;oliow—Lr: . __;__1_2—;- —_W % ~ TE o :Tﬁaﬂ N ﬁR"(
Presidents of India and arrange thep jn | Hifie 7o 3% FAH T8 G 9% = g
Correct chronological order. starting from : w0 H SHafRd $ifag
earliest to the last. ¢ ! e SiEl =
1. Neelam Sanjiva Reddy - t 1. 7 TR
2. K.R. Narayanan o : 2. . AR
3. A.P.J. Abdul Kalam , 3. . . S, IS HA™
S4. R. Venkataraman vy : 4. AR, FHeTA
elect the correct answer from th g Td W gHT
(g:‘iven below : ' ¢ code § _:ﬁﬁj e m e
ode : {
(@) 4,1, 3,2 (b) 1,4,3, 2 ; @ 4, 1,3,% g i ‘1*, gg
(C) 1’ 4’ 2, 3 (d) 4’ 1, 2’ 3 l (C) 1, 4'7 27 ’ ’ ’
; } { * 5 - ﬁ F( F{ ¢ N\ %
127. With reference to ‘Uttar Pfadesh', which of : 127. W EL %ﬁ, A nE ﬁ?{_m/ |
the following statements is/are correct ? ; YA TEl 2/ 37
1. Uttar Pradesh is the léading producer ' 1. I I, o T JATCL HT M IAEF 2 |
of potato in the country’' ' a1 A st s
2. Government of India hla'sfapproved for | 2. : i i ﬁ hﬁ
establishment of South Asia Regional ¥ e m A1 g T TRATTT i A0
Centre of International Potato Centre cik
at Aligarh. ﬂF'TQ
. I :
i Select the correct answer from the code A g e e | wel
%’E:}" given below : *|e:
% Code : py (a) 9 A1aIE 2
(a) Neither 1 nor 2 £ (b) et 1
(b) Only 1 <o N
(c) Only 2 (c) 2 .
(d) Both 1 and 2 = (d) 13T 2
128. Match List — I with List — I and choose the | 128. gt — I % g=t — II ¥ gafea Hifae ik g
correct answer using the code given below ¥ i feuw o e BT YA R T2l I gﬁq I
the lists.
List — I List — II ! Tl - 1 o - 11 E3E
(Schedule) (Subject) § (STE=h) (fererr) Efé
A. 7th Schedule 1. Languages : A. 7 & TR 1. 97§ a
B. 8th Schedule 2. Disqualification | & -
on-ground of ! B. 84 S1gee 2. QUSQE  ATHN W
défection } ST
C. 9th Schedule 3. Union, State.and : C. 9 = et 3. g9, T 3R
Concurrent lists o
D. 10th Schedule 4. Validation of é . SEER Eﬂ‘aﬂl.
EE certain Acts/ | D. 10 =ff Jgg=h 4. $o fufrem 3t
%‘?’% Regulations 3 et 1 g
" Code : : he:
A B C D i A B C D
@3 1 4 2 : @3 1 4 o2
)4 2 1 3 ! b)4 2 1 3
(c) 3 1 2 4 l (c) 3 1 2 4
d2 3 4 1 | ! @2 3 4 1 A
@38@ T T e
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Given below are two statements, one is

' 1abelled as Assertion (A) and the other as

5;1? Reason (R). .
(A) : Generally an alloy of lead and |

Assertion
tin is used as a material of the fuse wire.

Reason (R) : Alloy of lead and tin has
a higher melting point than copp€r and
aluminium. s

Select the correct answer
given below :

Code : i A

(a) (A)is false, but (R) is t;'ue
(b)

from the code

)

correct explanation of (A)

Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(c)

(d) (A)1is true, but (R) is false

Which of the following pairs is/are NOT

correctly matched ?

(Day) v (Date)

1. International - 16 September
Ozone Day

9. World Environment —, +5 June
Day -

3. World Wildlife Day - 22 March

Select the correct answer from the code

given below :
Code:

(a) Only 3
(c) 1and 3

(b) Only 1
d) 2 and 3

131, Which of the following pairs is/are NOT

[E1%[E]
et

correctly matched ? { ad

(City) (River)
1. Budapest - Dénﬁbe
2. Cologne - Rhine
3. New Orleans - Missouri
4. Hyderabad
(India) - Paleru
Select the correct answer from the code
given below :
Code : ‘

(b) Only 1 and 2
nly 2, 3 and 4

(a) Only 3 and 4
(c) Only 1,2 and 3 (d) O

Both (A) and (R) are trué,and (R) is the |

129,

130.

131.

¢

9@

e, o

cIzZU-1- 23

e o (A

o g = T (R) T |

mzﬁaq(m;gmrmﬂ:?ﬁw )

(a) (A) Terd 2, fopd (R) T 2

(b) (A) 3R (R) & T & 3 (R),
ST T @

© () 3t (R) S A E frg (R), (A) 1 T
STE T T 2

d) ()& 2, Fd (R) e 2

(A) 1 7

ﬁq@r@agﬁﬁq-m/ﬁaﬁvgﬁ%ﬂﬁ%/%?

(ferar) (arirE)
1. st FeH | - 16 faam=
0. Faga watet @ - 5%
3. foga Tl o - 22w
ﬁmm@ﬁaﬁmgﬁu:
T
(a) haet (b) et 1
(c) 133 (d) 23M3
ﬁﬁ%ﬁ@aﬁ@ﬁq—m/ﬁwa—ég&%ﬁqﬁ
3/8 7

(FR) (=)
1. e - @
9. HAHA - THA
3. | Ao - fird
4. FeUEE (VRE) - TR
:ﬁ%ﬁQWﬁ@g—&ﬁmgﬁqz
He
(a) Faa 334 (b) haw 1 32

(c) Fae 1,23 3 (d) et 2, 3 3N 4
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132.

134.

g/?’%

Whlch of the followmg 1s/ are NOT a
dimensjon of food security ?

1. Avaijlability W

2. Accessibility S ]

3. Affordability

4. Accountability ]
Select the correct answer from the code
given below :
Code :

(@) Only 4
() 1 and 2

(b) Only 1
(d) 2,3 and 4

Four Buddhist Councils were helfd" at the
following places. Arrange them in _éonect
chronological order and select the correct
answer from the code given below

1. Vaishali

2. Rajagriha
3. Kundalvana
4. Pataliputra
Code :

(a) 2,1, 3,4

(¢) 1,2,4,3

) 1,2,3,4°
(d) 21 1, 4; SY

Given below are two statements\z_'i’q.he is
labelled as Assertion (A) and the ~;t;h«sr as
Reason (R).
Assertion (A) :
source of several large perenmal nvers
Reason (R) : The higher rangeslof
Himalayas are snow covered th;oyghout

The Himalayas form

the year.

Select the correct answer from the code

given below :

Code :

(a) (A) is false, but (R) is true

(b) Both (A) and (R) are true and(R) is the
correct explanation of (A) e

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of A)

{

(d) (A) is true, but (R) is false

132

e el i 5 o i S i SR R

133.

134.

4

CIZU-1- g4

. e

e B B A W W T
& /2 7

1_3‘]@'@?‘”
2. 9
3. FEA
4. JamEed!
3 foq T e ¥ WA I A :
Fe:
(a)aw_cfa4
(c) 132

(b) et 1
(d) 2,334

gﬂaﬁgwﬁﬁmﬁw%ﬁaammmggml
ﬁ@mmﬁw@aﬁmm

£% few e fe A T I IAC |

1. duiredt

2. TSTT8

3. FUScrEd

4. Urefergd

e :

@ 2,1,3,4 (b) 1,2,3,4
(€ 1,2,4,3 d) 2,1,4,3

F 3 e feu o 2, T @ Tk 1 3hERA ()
T GER I HRT (R) el TS |

aiftrrem (A) : Temmera a7 o waaanted
fet 1 3P W 8 |

HRUT (R) : Tedem 6 =0 3wt ga

TenreoTien wdt © |

T fow T g @ wdt s g

%<

() (A) TeE R, Ry (R) @l 2

(b) (4) 3R (R) 1 &l ¥ 3R (R), (A) BT
STEAT Al @

() (A) 3R (R) ST & &, T (R), (A) H
Tl S e @

(d) (A) 71 B, T (R) TTora B

Ig_El
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Given below are t
labelled as Assert‘iv
Reason (R).
fAsste}'ftlon (A) : India’s success is'éritical
for the global success of Sustainabl
Development Goals, T
Reason (R) : India accoun a7
) ts { *
gnle-stuitﬁl of the total world pc?;u?;%rc‘)lg
elec € correct .
Siven below answer from the code
Code :
(a) (A) is false, but (R) is true
(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(c) Both (A) and (R) are true, but!(R) is
not the correct explanation of (A)
(d) (A)is true, but (R) is false ¢

0 statements, one is
on (A) and the other as

Pushkar Kumbh Mela 2025 was held in
May 2025 in which of the following State(s) ?
1. Rajasthan

2. Uttar Pradesh o

3. Uttarakhand

Select the correct answer from the code

given below : )
Code : b
(a) Only 3 (b) Only 1 =
(c) 1and 2 (d) 2and 3 ¢ 3

With reference to Panchayati Raj In,§'t,{‘ltutions
in India which of the following statements
is/are correct ?

1. Tenure of Panchayati Raj Institutions
shall be of 5 years.

9. In Panchayati Raj Institutions, out of
the seats reserved, 1/4 of the seats shall
be reserved for women belonging:to
Scheduled Caste and Scheduled-Tribe.

Select the correct answer from the code

given below :

Code :
(a) Neither 1 nor 2 (b) Only 1 {
(c) Only 2 (d) Both 1 and2

Which among the following is/are NOT a

social indicator of poverty ?
1. Illiteracy

2. Safe drinking water

3. Job opportunities

4. Size of the house -
Select the correct answer from 'tl'lzeicode

given below :

¢

Code :
(a) Only 4 (b) Only 1
(c) 1and 2 (d) 3and4

e fah e A B e Nt S B Gk S

e 5

o o v e R T B

EAE

!
|
I
|
I .

CIZU-1-23

15, e e 8, fore 8 8 A A

1 gk ) R (R) FE TS '
W(A):wwﬁ@fmm
gl © |

T (R) ; e i fergd A1 FC e T

¥ w1 e Fram w1 8 |

13 fow 1 oz & W I I

R : X

(a) (A)w%ﬁﬁ(R)@% ;
b) (A) 3 (R) ST @ & S (R), (A) 1 T

IR T 2 _ )
(©) (A) 37 (R) 21 @@ fird (R), (A) 1 T
S T T 2 .
(d) (A)Hﬁ%,ﬁra(lz)ﬂ'aﬂ%

. T8 2025 % geR T Hell 025 %1 3T Frfefad

¥ R g/l o foram T AT 7
1. ToEa™
2. IW T
3. ITEUE

Y g Y Fe & FE IR M

%
(b) a1

(a)éﬁﬁ3
(c) 132 (d) 233

v T geeit % e # Frefatad

3 Y FH-T1/A FA T B/2 7
1. TRt T GRS <l hIbhIel 5 a9 & BT |
0. TR TS Gena ° Tl i 8 °

1 /4 @ FEER S o STEtee S
£ nfeeail & forg smfEad g

9 fou MY He ¥ TE IW T :

He

(@ 3@ 1A& 2  (b) FaA 1

(c) e 2 (d) 1 3 2 HI

| frefafiad 3 @ B9 frefan w1 G Gehd<

T2

1. e

2. gU¥a TaSel

3. TSR & 3T

4. T HT AHR

9 feu T Fe | W IW AT :

Fe:

(a) el 4 (b) e 1

(c) 132 (d) 33 4
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(a) (A) is false, but (R) is true

- CIZU-1 - g4
e Y
T T T T e e T PP aﬁq;ﬁau:cﬁwmmﬁaam
139. Wthh of the followmg 1s/are NOT a cold : 139. ﬁq%ﬁgﬁ 34 q‘é
ocean current ? i 2/8 7
1. Agulhas current J | 1. AT
2. Brazil current ' : 2. w9
3. Humboldt current %y : 3, gHee 9l
4. California current ¢ : 4. Ffeerdan g/
Select the correct answer from the code | fi= feg T &R # wd I
given below : : w2
Code : | ) 3 3 4 (b) 132
(@) 3 and 4 (b) 1and 2 , (a 3 ) 2 3 3
() 1and3 (d) 2 and 3 ! (c) 1
7 ! & we-T/d T g T
140. Which of the following palrs is/are NOT f 140. ﬁ-c:{fﬁﬁa'd H @ F-90/4 gH e ¢
correctly matched ? i 2/8 7
(Acid) (Aq1d found in) | (aT) (ST I AT )
1. Lactic .acid. - Curd : 1. AfF - a‘é’[
i Zarttanc é:j:ld : (;rfptes 0. 2R 3T - IR
EiEE S lec(t:il'llz o ect answer f(r)o?noth d 3. ¥ _ L
corr e code T I AT
"‘si:% given below : e fow T R q W
Ei“l :-.‘,,.,‘ W :
Code : ¢ Ty
(a) Only 3 (b) Only, 1 (a) et 3 (b) %E‘E" 1
(¢) 1and 2 (d) 2 and 3 () 132 (d) 2 3R 3
"',-_v:\ﬂ
141. Given below are two stater}x‘é'ints one is 141. = @ e feg e E, 50 & @ A (A)
labelled as Assertion (A) and the other as JT AL 1 SO (R) Hal TR |
Reason (R). 1firRem (A) : Teaad % &1 W HI¢ dR W g
Assertion (A) : The territories of the o~ & N
Sultanate could be broadly divided into two w -ﬁ TIF Sl § - W 3N
parts — the Khalsa and the Jagirs. ! SR |
Reason (R) : The Jagirs comprised of the ; HROT(R) : ST § =" & Fremor § am aref
land under the control of the State. :
ud e oft
Select the correct answer from the code f 1@ l
[ 1 1 s - | . E
E4E given below | R @ e v g s;%
Elf':% Code : {
' ! |e:
i
i

(@) (A) TeIa B, e (R) vt @

(b) (A) 3R (R) SF1 @&l & 3k (R), (A) F @@
TS T 2

(c) (A) 3R (R) SHI @&l &, fpeg (R), (A) B &
T A& T 2

(d) (A) @& 2, ﬁﬁ(R)ﬂ“m%

@ 42 @ e A e e o et e

(b) Both (A) and (R) are true-and (R) is the
correct explanation of (A)

(c) Both (A) and (R) are trie, but (R) is
not the correct explanation of (A)

(d) (A) is true, but (R) is false

i
{
|
|
b
H

T
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Reason (R).
Assertion (4) :

important for ecq
functions in a M

Directive Principles are
nomic, social and' political
o odern Democrati¢ State.
as :
Princti);llgz) : Tktle core objectives 6f Directive
1S to establish e i
social democracy. e e

S.e lect the correct answer from the code

given below :

Code : (0

(@) (A) is false, but (R) is true

(b) Both (A) and (R) are true anti"-V(R) is the
correct explanation of (A) -

(c) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(d) (A) is true, but (R) is false

. L |
143. Given below are two statements, one is

labelled as Assertion (A) and the-other as
Reason (R). L
Assertion (A) : Sustainable déﬁglopment

[E%[E] should take place without damaging the

h& environment and development in the
present time should not compromise with
the needs of the future generati:c‘)ris.
Reason (R) : Agenda 21 was mgneciby world
leaders in 1995. ——

e
Select the correct answer from:the code |

given below :
Code :

(a) (A) is false, but (R) is true

%)

(b) Both (A) and (R) are true and’(R) is the |

{0

correct explanation of (A)

(c) Both (A) and (R) are true, bl%iff_(R) is

not the correct explanation of (A)

(d) (A) is true, but (R) is false

e | e e

o PDF Reader and Editor

CIZU-1 - 23

| 142, FR 3 e fon e 3, ol T I ST (A)

| EAE TN TR ) o () 7 2

EE]E.@ aftrher (a) : snyfie Aebaith T4 8

i e, mmfaes 3t it Bl 2 e

g s # |

L ww(R) : e i A i

i R FE € Freoes fagidl #1032 7 |

| :ﬁaﬁqmaﬁdﬁ@ﬁ'{ﬂﬁQ:

T
(a) (A) 7o 2, fFg (R) T @
(b) (A) 3R (R) GFT & & 3T (R), (A) H =

SITEAT T B
() (A) 3t (R) &t 7€ €, o (R), (A) F1 T
=TE TE H

(d) (A) ¥E 2, forg (R) T B

143, 9 @ wem Rumu E, fad & © H AR (A)
T G 1 HA (R) F& T2 |
M(f\)__:aaaﬁﬂmawhmzﬁrgwn
e e @ e i e ¥ fa
sy ) difeal 6 Sl S T WHEA T
HT A0 |

! U (R) : TS 21 W fwd Jansd grr 1995 H

5 g fop T A |

; e R a .
,E]:‘,g few e e & W I MY

i
H

ofg: He:
() (A) e B, R (R) &1 2

(b) (A) 3 (R) g1 @& & 3 (R), (A) 1 @&l
ST LT 8

(©) (A) 3 (R) g1 & &, fFg (R), (A) 1 T
ST 8] Hl 3

(d) (A) @& 2, fhg (R) T R

|
t
|
l

| SRS
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144 Match Llst -1 w1th Llst — 11 and select tl‘lc
Correct answer using the code glven below
&t the lists :

=S List - I List -
@:[‘\ (Mission) (Date of Launch)
A. Chandrayaan-3 1. 02 September
2023 "
B. Aditya L1 2. 17 F February
2024
C. INSAT - 3DS 3. 14 July 2023
D. RLV-LEX-01 4. 02 April 2023
Code : P
A B C D
(a) 3 1 2 4
(b) 1 3 2 4
€01 3 4 2
(d) 3 1 4 2

145. With reference to the Indian Ocean’, which
of the following statements is/are correct ?
1. It was called by the Ancient Greeks as
Erythraean Sea.
2. It is spread on the either side of equator
Select the correct answer from the ,code
given below : 0

COde - ¢
(@) Neither 1 nor2 (b) Only 1
(c) Only 2 (d) Both 1 and 2

146. Consider the following sources of world water
supply and arrange them in descending

order.
1. Oceans
2. Rivers 3
3. Polar ice and Glaciers r"_, Ty
4. Ground water i
Select the correct answer from the ‘code

given below :

Code :
(@ 1,2,4,3 (b) 1, 4, ,2
(c) 1,3,4,2 (d 1,2,3,4

147. Which of the following pair is/are NOT
correctly matched ?

(Dam) (River) =
1. Baglihar Dam - Chenab:
2. Pandoh Dam — Ravi

3. Srisailam Dam - Tungabhadra
Select the correct answer from the 'code
given below : '

Code :
(a) Only 3 (b) Only 1
() 1 and 2 (d) 2 and 3

CIZU,1
S
Iy '"""‘;"%Tﬂ—l]ﬁm%au[
| 144 gﬁ;m@mmwﬁmﬁ%
f 7= - 1 T - 11
! (forg™) (sgram fafy)
! A, =2 -3 1 021%1?11:«2023
; B, e L1 2 17%‘{?&’[202q
{ c. INSAT-3DS 3. 14T 20y,
;g‘%‘% 5. RLV-LEX-01 4. 02 38 209,
!E F.A B C D
; @s3 1 2 %
3 (b) 1 3 2 4
@1 3 % 2
s @s 1 4 2
¥ ded ¥ Fafafga 4 3
145 %z /@rm%"f%/%?
1. @gﬁnqagﬁa‘lﬁgﬁmmmml
2. %W@T%aﬁmmg\’m
2 i e Fe ¥ TE IW IAC :
F:
(@ A 1T 2 (b) @1
(c) a2 (d) 1 3R 2 H
146. Taga s smgfd % Frefafed g w fem
T 3= 3EE shY H AR Hif |
1. HEEFR
L2, Aft
FIEE 5. yefr = afi R
!El-;f 4, i et /vS
e few e %e @ Tl W g
& :
(@ 1,2,4,3 (b) 1,4,3,2
© 1,3,4,2 @ 1,2,3,4
147. f;g%fﬁaaﬁ@ﬁq—m/@rgmuﬁgﬁmm
/B8 ?
! (@m@) ()
* 1. =TfeTER =ty - fmE
2. USiE |ty - e
3. sfiiem sy - g
L T4
(a) aet 3 (b) a1
() 1 3R 2 (d) 23?!“{3 B



https://play.google.com/store/apps/details?id=com.xodo.pdf.reader

Made with Xodo PDF Reader and Editor

: 1;18 Given below

\ §T\‘.:n-.-(‘

as Assertion (A) and the other as Rea:

Assertion (A) o
. mobile gaming market in the world,
B Reason (R) : There are more
A internet users in India

Select the corre o
ct answer from th
given below : e code

Code :
() (A) is false, but (R) is trae

(b) Both (A) and (R) are trueand (R) is the

correct explanation of (A)
(c) Both (A) and (R) are trué; but (R) is
not the correct explmnéﬁbn of (A)
(d) (A) is true, but (R) is false

149. Who among the following had won the
International Booker Prize.in 2025 ?
1. Banu Mushtaq (T
2. Deepa Bhasthi £
3. Sanjay Chauhan Lt
EE Select the correct answer from the code
ok ;% given below : e
" Code :
(a) Only 3
(b) Only 1
(c) 1and 2
(d 2and 3

150. With reference to ‘Vice—Préé‘fdent of India’,
which of the following statements is/are

correct ? oy
1. The Vice-President is the ex-officio

Chairman of the Rajya Sabha.
2. Vice-President is a member of the

Rajya Sabha.
Select the correct answe
given below :
Code :
(a) Neither 1 nor 2
(b) Only 1
(c) Both 1 and 2
(d) Only 2

r frb’rn the code
§ “ %"

than 950 million

ents, : i e e Ry <
oneislabelled | 148. F= g FHUA fen &, for T H AfiypzA (A)
e R). !
+ India is the second largest |
|

!
!
H

i
i
i
|
!
|
|
§
{
|
H
{
}

CIZU-1 - 23

Wa@iaﬁzﬁm(}qa@w%l

WH(A):WW%{HT’W@WW

A aeR B |

AT (R) : 9 | 9sofﬁ%mémamﬁz

¥ IuarTeRdl 2 |

) fu e e & wE I I

He

(a) (A)W%,%Q(R)Hzﬁ%

(b) (A)W(R)ﬁﬁ‘@%aﬁi(l?), (A) 1 T
STE HT 8

© (a) 3 (R) 2 7@ &, f5 (R), (a) i =@
ST T8 T @

(d) (A)H’aﬁ%,ﬁb—«j(mw%

149, Frfufea 3 & frad 2025 ST Tt TR

e 7

1. ST q¥dmeh

2. & wedt

3. Horg g

3 fom o Fe & T IR I
R '
(a)aﬁﬁ3

(b) e 1

(c) 132

(d) 233

150. “aTa % Iu-Trgafd’ ¥ g & Prafafea @

H-w1/3 FH TR R/ 7
1. w—mﬁ,mw%uﬁqm-@ﬁ% |
2. W—U@ﬁmw%m-@ﬁ%l

(@) AT 1T 2
(b) el 1
(c) 13T 23
(d) et 2

B R VT

e B¢
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